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(vxLr eSx”khu tk¡p ijh{kk)
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le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA 

izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1-	esdkax&xaxk lg;ksx ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s%

	 1-	 i;ZVu] laLÑfr] f'k{kk] ifjogu vkSj lapkj esa 

lg;ksx o c<+kok nsus ds fy;s ,d lk>k igy gSA 

	 2-	 bls o"kZ 2000 esa ykvksl dh jkt/kuh fo;ufr;kus 

esa ykWUp fd;k x;k FkkA 

	 3-	 ;g Hkkjr vkSj 5 vkfl;ku ns'kksa dh lk>k igy gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3

	 2-	fuEufyf•r esa ls fdl lewg ds lHkh pkjksa ns'k 

esdkax&xaxk lg;ksx ds lnL; gSa\

	 (a)	 Hkkjr] dacksfM;k] ykvksl] eysf'k;k

	 (b)	 dacksfM;k] ykvksl] eysf'k;k] FkkbZySaM 

	 (c)	 ykvksl] eysf'k;k] fo;ruke] FkkbZySaM 

	 (d)	 fo;ruke] FkkbZySaM] dacksfM;k] ykvksl

	 3-	tufgr ;kfpdk (Public Interest Litigation-PIL) ds 

lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ;g vo/kj.kk fczfV'k U;k;'kkL=k ls yh xbZ gSA 

	 2-	 ;g Hkkjr ds lafo/ku ds vuqPNsn 39A esa fufgr 

fl¼karksa ds vuqdwy gSA 

	 3-	 bls dsoy lokZsPp U;k;ky; esa nk;j fd;k tk 

ldrk gSA 

	 4-	 ;g U;kf;d lfØ;rk ds ekè;e ls vnkyr }kjk 

turk dks nh xbZ 'kfDRk gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 1 vkSj 3 	 (b)	2 vkSj 4 
	 (c)	 3 vkSj 4 	 (d)	1 vkSj 4 

	 4-	Hkkjrh; lafo/ku esa fuEufyf•r esa ls dkSu lk vuqPNsn 

leku ukxfjd lafgrk ls lacaf/r gS\

	 (a)	 vuqPNsn 40 	 (b)	vuqPNsn 42 
	 (c)	 vuqPNsn 39 	 (d)	vuqPNsn 44 

	 5-	fuEufyf•r esa ls fdu ekeyksa esa lokZsPp U;k;ky; us 

leku ukxfjd lafgrk ds laca/ esa fVIi.kh dh Fkh\

	 1-	 eksgEen vgen cuke 'kkg ckuks (1985)
	 2-	 ljyk eqn~xy cuke Hkkjr ljdkj (1995)
	 3-	 fyyh FkkWel cuke Hkkjr ljdkj (2000)
	 4-	 ds'kokuan Hkkjrh cuke dsjy jkT; (1973)

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 2 vkSj 3 	 (b)	2] 3 vkSj 4 
	 (c)	 1] 3 vkSj 4 	 (d)	1] 2 vkSj 4 

	 1.	 Regarding the Mekong-Ganga Cooperation, 
consider the following statements:

	 1.	 There is a common initiative for cooperation 
and promotion in tourism, culture, education, 
transport and communication.

	 2.	 It was launched in the year 2000 in Vientiane, 
the capital of Laos.

	 3.	 It is a joint initiative of India and 5 ASEAN 
countries.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 1 and 2 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 2.	 All the four countries of which of the following 

group are the members of Mekong-Ganga 
Cooperation?

	 (a)	 India, Cambodia, Laos, Malaysia
	 (b)	 Cambodia, Laos, Malaysia, Thailand
	 (c)	 Laos, Malaysia, Vietnam, Thailand
	 (d)	 Vietnam, Thailand, Cambodia, Laos
	 3.	 Regarding Public Interest Litigation (PIL), consider 

the following statements:
	 1.	 This concept is derived from British 

jurisprudence.
	 2.	 It is in line with the principles enshrined in 

Article 39A of the Constitution of India.
	 3.	 It can be filed only in the Supreme Court.
	 4.	 It is the power given to the public by the court 

through judicial activism.
		  Which of the above statements are correct?
	 (a)	 1 and 3	 (b)	 2 and 4
	 (c)	 3 and 4	 (d)	 1 and 4
	 4.	 Which one of the following articles in the Indian 

Constitution deals with the Uniform Civil Code?
	 (a)	 Article 40	 (b)	 Article 42
	 (c)	 Article 39	 (d)	 Article 44
	 5.	 In which of the following cases did the Supreme 

Court make observations regarding Uniform Civil 
Code?

	 1.	 Mohammad Ahmed Vs. Shah Bano (1985)
	 2.	 Sarla Mudgal Vs. Government of India (1995)
	 3.	 Lily Thomas Vs. Government of India (2000)
	 4.	 Kesavananda Bharati Vs. State of Kerala 

(1973)
		  Select the correct answer using the code given 

below:
	 (a)	 1, 2 and 3	 (b)	 2, 3 and 4
	 (c)	 1, 3 and 4	 (d)	 1, 2 and 4
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	 6-	ny&cny fojks/h dkuwu esa fuEufyf•r dFkuksa ij fopkj 

dhft;s%

	 1-	 bls lafo/ku dh nloha vuqlwph esa 61osa lafo/ku 
la'kks/u ds ekè;e ls 'kkfey fd;k x;k FkkA 

	 2-	 bls pquko lq/kjksa ij o"kZ 1978 dh fnus'k xksLokeh 

lfefr dh fliQkfj'k ds vk/kj ij lafo/ku esa 

'kkfey fd;k x;k FkkA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 7-	fuEufyf•r dFkuksa ij fopkj dhft;s %

	 1-	 ,d lkaln@fo/k;d tks funZyh; :i ls fuokZfpr 

gqvk gks fdarq ckn esa og fdlh ny esa 'kkfey gks 

tkrk gSA 

	 2-	 ;fn dksbZ euksuhr lnL; lnu esa fu;qDRk gksus ds 

6 ekg ds Hkhrj fdlh jktuhfrd ny esa 'kkfey 

gks tkrk gSA 

	 3-	 ;fn ,d fuokZfpr lnL; LosPNk ls fdlh jktuhfrd 

ny dh lnL;rk dks NksM+ nsrk gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls ny&cny dkuwu ds 	

vk/kj ij v;ksX;rk dk fu/kZj.k djrs gSa\

	 (a)	 dsoy 1 vkSj 2 	 (b)	dsoy 2 vkSj 3 
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3 

	 8-	fuEufyf•r dFkuksa ij fopkj dhft;s %

	 1-	 91osa lafo/ku la'kks/u vf/fu;e 2003 }kjk fdlh 

ny ds foHkktu ds fy;s 2/3 fo/k;dksa@lkalnksa dk 

ml ny ls vyx gksuk vko';d gSA 

	 2-	 ny cny dkuwu ds vk/kj ij lnL;ksa dh v;ksX;rk 

dk fu/kZj.k ihBklhu vf/dkjh dk fu.kZ; vafre 

gksrk gSA

	 3-	 ihBklhu vf/dkjh ds fu.kZ; dks U;k;ky; esa pqukSrh 

ugha nh tk ldrh gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3 	 (b)	1 vkSj 3 
	 (c)	 2 vkSj 3 	 (d)	1 vkSj 2 

	 9-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 tuçfrfuf/Ro vf/fu;e 1951 dh /kjk 29, 
fuokZpu vk;ksx dks la?kksa rFkk fudk;ksa dks jktuhfrd 

ny ds :i esa iathÑr djus dk vf/dkj nsrh gSA 

	 2-	 tuçfrfuf/Ro vf/fu;e] 1951 fuokZpu vk;ksx 

dks jktuhfrd nyksa ds iathdj.k jn~n djus dh 

'kfDRk nsrk gSA 

	 6.	 Consider the following statements in the Anti-
Defection Law:

	 1.	 It was included in the Tenth Schedule of the 
Constitution through the 61st Constitutional 
Amendment.

	 2.	 It was included in the Constitution on the basis 
of the recommendation of the 1978 Dinesh 
Goswami Committee on Electoral Reforms.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 7.	 Consider the following statements:
	 1.	 An MP/MLA who has been elected 

independently but later joins a party.
	 2.	 If a nominated member joins any political 

party within 6 months of his appointment to 
the House.

	 3.	 If an elected member voluntarily gives up the 
membership of a political party.

		  Which of the above statements determine 
disqualification on the basis of anti-defection law?

	 (a)	 1 and 2 Only	 (b)	 2 and 3 Only
	 (c)	 1 and 3 Only	 (d)	 1, 2 and 3
	 8.	 Consider the following statements:
	 1.	 For the division of a party by the 91st 

Constitutional Amendment Act 2003, 2/3 
MLAs/MPs must be separated from that party.

	 2.	 Determination of disqualification of members 
on the basis of anti-defection law The decision 
of the Presiding Officer is final.

	 3.	 The decision of the presiding officer cannot 
be challenged in the court.

		  Which of the above statement(s) is/are correct?
	 (a)	 3 Only	 (b)	 1 and 3
	 (c)	 2 and 3	 (d)	 1 and 2
	 9.	 Consider the following statements:
	 1.	 Section 29A of the Representation of the 

People Act, 1951 empowers the Election 
Commission to register associations and 
bodies as political parties.

	 2.	 According to the Representation of the People 
Act, 1951, the Election Commission has the 
power to cancel the registration of political 
parties.
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	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2 

	 10-	Hkkjrh; isVsaV vf/fu;e 1970 ds varxZr fuEufyf•r 
esa ls dkSu&lk@ls ekunaM fu/kZfjr fd;k x;k gS@fd;s 
x, gSa\

	 1-	 mls u;k gksuk pkfg;sA
	 2-	 yksxksa dks igys ls irk gksuk pkfg;sA
	 3-	 vkS|ksfxd vuqç;ksxksa ds fy;s l{ke gksuk pkfg;sA
	 4-	 og isVsaV vf/fu;e 1970 dh /kjk 3 vkSj 4 ds 

çko/kuksa ds varxZr vkrs gksaA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 4	 (d)	1] 2] 3 vkSj 4

	 11-	tu leFkZ iksVZy ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g ljdkjh ØsfMV ;kstukvksa dks tksM+us okyk ,d 
ou&LVkWi fMftVy iksVZy gSA 

	 2-	 ;g iksVZy Ñf"k vkthfodk vkSj f'k{kk Jsf.k;ksa ds 
varxZr ljdkjh ;kstukvksa ds rgr ½.k dh lqfo/k 
çnku djsxkA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2 

	12-	fuiq.k jk"Vªh; igy ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g ifj;kstuk nhun;ky vaR;ksn;& jk"Vªh; 'kgjh 
vkthfodk fe'ku ds rgr pykbZ tk jgh gSA 

	 2-	 bldk mís'; 1 yk• ls vf/d fuekZ.k Jfedksa dks 
u, dkS'ky vkSj vifLdfyax dk;ZØeksa ds ekè;e 
ls çf'kf{kr djuk gSA

	 3-	 jk"Vªh; dkS'ky fodkl fuxe bl ;kstuk dh 
dk;kZUo;u esa lg;ksxh ,tsalh ds :i esa dke 
djsxhA 

	 4-	 ;g ifj;kstuk dsaæh; vkokl vkSj 'kgjh ekeyksa ds 
ea=kky; }kjk lapkfyr fd;k tk jgh gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1] 3 vkSj 4	 (d)	1] 2] 3 vkSj 4

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only
	 (b)	 2 Only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 10.	 Which of the following criteria has/have been laid 

down under the Indian Patent Act 1970?
	 1.	 It should be new.
	 2.	 People should know in advance.
	 3.	 Must be capable of industrial applications.
	 4.	 He should be covered under the provisions of 

sections 3 and 4 of the Patent Act 1970.
		  Select the correct answer using the code given 

below:
	 (a)	 1, 2 and 3 Only	 (b)	 1 and 3 Only
	 (c)	 2 and 4 only	 (d)	 1, 2, 3 and 4
	 11.	 Regarding Jan Samarth Portal, consider the 

following statements:
	 1.	 It is a one-stop digital portal linking 

government credit schemes.
	 2.	 This portal will provide loan facility under 

government schemes under agriculture, 
livelihood and education categories.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only
	 (b)	 2 Only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 12.	 Regarding the NIPUN National Initiative, consider 

the following statements:
	 1.	 This project is being run under Deendayal 

Antyodaya-National Urban Livelihoods 
Mission.

	 2.	 It aims to train over 1 lakh construction 
workers through new skilling and upskilling 
programmes.

	 3.	 National Skill Development Corporation 
will act as a co-operative agency in the 
implementation of the scheme.

	 4.	 The project is being operated by the Union 
Ministry of Housing and Urban Affairs.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 2 Only	 (b)	 2 and 3 Only
	 (c)	 1, 3 and 4 Only	 (d)	 1, 2, 3 and 4



5
lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009

nwjHkk"k% 8750187501, 011-47532596
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 13-	jk"Vªh; jktuhfrd ny ds :i esa ekU;rk ds fy;s 
fuEufyf•r esa dkSu lk@ls 'krks± esa 'kkfey gS@gSa\

	 1-	 dksbZ ny pkj ;k vf/d jkT;ksa esa jkT; Lrjh; ny 
ds :i esa ekU;rk izkIr djrk gSA 

	 2-	 yksdlHkk ;k jkT;ksa ds fo/kulHkk pqukoksa esa de ls 
de 4 jkT;ksa ls dqy oS/ er ds 6 çfr'kr çkIr 
djsa rFkk blds vfrfjDRk fdlh jkT; ;k jkT;ksa ls 
4 yksdlHkk lhVksa ij thr ntZ djsA 

	 3-	 yksdlHkk pqukoksa esa dqy yksdlHkk lhVksa ij 2 
çfr'kr ij thr gkfly djrk gks rFkk ;g lhVsa 
de ls de pkj vyx&vyx jkT;ksa ls gksaA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 3	 (b)	1 vkSj 3 
	 (c)	 1 vkSj 2 	 (d)	2 vkSj 3 

	14-	jkT; Lrjh; jktuhfrd ny ds :i esa ekU;rk ds fy;s 
fuEufyf•r esa ls dkSu&lk@ls vgZrk 'kkfey gS@gSa\

	 1-	 ;fn lacaf/r jkT; dh fo/kulHkk ds vke pquko 
esa jkT; esa Mkys x, oS/ erksa dk 6 çfr'kr çkIr 
djrk gS vkSj blds vykok lacaf/r jkT; dh 
fo/kulHkk esa 2 lhVsa thrh gksA

	 2-	 ;fn ml ny us jkT; ds fo/kulHkk ds dqy LFkkuksa 
dk rhu çfr'kr ;k rhu lhVsa] tks Hkh T;knk gksa 
çkIr dh gksaA

	 3-	 ;fn ;g jkT; esa yksdlHkk ds fy;s gq, vke pquko 
esa ;k fo/kulHkk pquko esa dqy oS/ erksa dk 8 
çfr'kr çkIr dj ysrk gSA 

	 	uhps fn;s dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2 	 (b)	dsoy 2 vkSj 3 
	 (c)	 dsoy 1 vkSj 3 	 (d)	1] 2 vkSj 3 

	15-	xUuk dh •srh ds fy;s vuqdwy ifjfLFkfr;ksa ds lanHkZ 
esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 m".k vkSj vkæZ tyok;q ds lkFk rkieku 21&27 
fMxzh lsfYl;l ds chp 

	 2-	 o"kkZ yxHkx 100&50 lseh 
	 3-	 vPNh ty fudklh okyh e`nk

	 	mi;ZqDRk dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 vkSj 3 
	 (c)	 dsoy 1 vkSj 3 	 (d)	1] 2 vkSj 3 

	 16-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 egkjk"Vª Hkkjr dk 'kh"kZ phuh mRiknd jkT; gSA 
	 2-	 mÙkj çns'k Hkkjr dk lcls cM+k bFksukWy mRiknd 

jkT; gSA
	 3-	 Hkkjr fo'o dk ik¡pok¡ lcls cM+k bFksukWy mRiknd 

ns'k gSA 

	 13.	 Which of the following is/are the conditions for 
recognition as a National Political Party?

	 1.	 A party is recognized as a state level party in 
four or more states.

	 2.	 Obtain 6 per cent of the total valid votes in 
at least 4 states in the Lok Sabha or State 
Legislative Assembly elections and in 
addition, 4 Lok Sabha seats from any state 
or states.

	 3.	 Wins 2 percent of the total Lok Sabha seats in 
the Lok Sabha elections and these seats should 
be from at least four different states.

		  Select the correct answer using the code given 
below:

	 (a)	 3 Only	 (b)	 1 and 3
	 (c)	 1 and 2	 (d)	 2 and 3
	 14.	 Which of the following is/are the qualification(s) 

included for recognition as a state level political 
party?

	 1.	 If in a general election to the Legislative 
Assembly of the State concerned secures 6 
percent of the valid votes cast in the State and 
in addition has won 2 seats in the Legislative 
Assembly of the State concerned.

	 2.	 If that party has secured three percent of the 
total seats in the State Legislative Assembly 
or three seats, whichever is higher.

	 3.	 If it secures 8 percent of the total valid votes 
polled in the state in the general election to 
the Lok Sabha or the assembly election.

		  Select the correct answer using the code given 
below:

	 (a)	 1 and 2 Only	 (b)	 2 and 3 Only
	 (c)	 1 and 3 Only	 (d)	 1, 2 and 3
	 15.	 Regarding favorable conditions for cultivation of 

sugarcane, consider the following statements:
	 1.	 Warm and humid climate with temperature 

between 21-27 °C
	 2.	 Rainfall about 100-50 cm
	 3.	 Soil with good drainage
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 and 3 Only
	 (c)	 1 and 3 Only	 (d)	 1, 2 and 3
	 16.	 Consider the following statements:
	 1.	 Maharashtra is the top sugar producing state 

of India.
	 2.	 Uttar Pradesh is the largest ethanol producing 

state of India.
	 3.	 India is the fifth largest ethanol producer in 

the world.
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	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3
	 (d)	 1] 2] vkSj 3

	 17-	vkfFkZd ekeyksa dh eaf=keaMyh; lfefr us fuEufyf•r 
esa ls fdl •jhiQ iQly ds fy;s U;wure leFkZu ewY; 
dh ?kks"k.kk dh gS\ 

	 1-	 /ku  	 2-	lks;kchu 
	 3-	 ew¡xiQyh 	 4-	xsgw¡
	 5-	 elwj 	 6-	eDdk 
	 7-	 ewa¡x 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s% 

	 (a)	 dsoy 1] 2] 3] 5 vkSj 7
	 (b)	 dsoy 2] 4] 5 vkSj 6
	 (c)	 dsoy 1] 2] 3] 6 vkSj 7
	 (d)	 dsoy 1] 3] 4] 5 vkSj 6

	18-	vksiu usVodZ iQkWj fMftVy dkWelZ   (ONDC) ds 
laLdj.kksa ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s% 

	 1-	 ;g ,d xSj&ykHkdkjh laxBu gSA 
	 2-	 ekStwnk fMftVy dkWelZ ,fIyds'ku vkSj IysViQkWeZ 

LosPNk ls ONDC usVodZ dks viukus vkSj mldk 
fgLlk cuus dk fodYi pqu ldrs gSaA  

	 3-	 vksiu&lkslZ rduhd ij vk/kfjr usVodZ ds ekè;e 
ls bZ&dkWelZ IysViQkWeZ dks ,dhÑr djus dh 
ifj;kstuk dks bysDVªkWfuDl vkSj lwpuk çkS|ksfxdh 
ea=kky; dks lkSaik x;k gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 	 (b)	1 vkSj 2 
	 (c)	 1 vkSj 3	 (d)	1] 2 vkSj 3 

	19-	fu;kscSad ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 fu;kscSad ,d çdkj dk fMftVy cSad gS] ftldh 
dksbZ HkkSfrd 'kk•k ugha gSA

	 2-	 Hkkjr esa fu;ks cSad ds ikl Lo;a dk cSad ykblsal 
ugha gSA

	 3-	 fu;kscSad vkerkSj ij ikjaifjd cSadksa dh rqyuk esa 
vf/d lsok,a¡ çnku djrs gSaA

	 4-	 fu;kscSad •qnjk xzkgdksa] NksVs vkSj eè;e O;olk;ksa 
dh vko';drk dks iwjk djrs gSaA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1] 2 vkSj 3 	 (b)	dsoy 1] 2 vkSj 4 
	 (c)	 dsoy 3 vkSj 4 	 (d)	1] 2] 3 vkSj 4 

		  Which of the above statements are correct?
	 (a)	 1 and 2 Only
	 (b)	 2 and 3 Only
	 (c)	 1 and 3 Only
	 (d)	 1, 2, and 3
	 17.	 The Cabinet Committee on Economic Affairs has 

announced minimum support price for which of 
the following Kharif crops?

	 1.	 Paddy	 2.	 Soybeans
	 3.	 Peanuts	 4.	 Wheat
	 5.	 Lentils	 6.	 Maize
	 7.	 Moong
		  Select the correct answer using the code given 

below:
	 (a)	 1, 2, 3, 5 and 7 Only
	 (b)	 2, 4, 5 and 6 Only
	 (c)	 1, 2, 3, 6 and 7 Only
	 (d)	 1, 3, 4, 5 and 6 Only
	 18.	 Regarding the editions of Open Network for Digital 

Commerce (ONDC), consider the following 
statements:

	 1.	 It is a non-profit organization.
	 2.	 Existing digital commerce applications and 

platforms may voluntarily choose to adopt 
and be part of the ONDC network.

	 3.	 The project of integrating e-commerce 
platforms through a network based on open-
source technology has been entrusted to the 
Ministry of Electronics and Information 
Technology.

		  Which of the above statement(s) is/are correct?
	 (a)	 2 Only	 (b)	 1 and 2
	 (c)	 1 and 3	 (d)	 1, 2 and 3
	 19.	 Regarding Neobank, consider the following 

statements:
	 1.	 Neobank is a type of digital bank, which does 

not have any physical branch.
	 2.	 Neo Bank does not have its own bank license 

in India.
	 3.	 Neobanks generally provide more services 

than traditional banks.
	 4.	 Neobanks caters to the requirement of retail 

customers, small and medium businesses.
		  Which of the above statement(s) is/are correct?
	 (a)	 1, 2 and 3 Only	 (b)	 1, 2 and 4 Only
	 (c)	 3 and 4 Only	 (d)	 1, 2, 3 and 4
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	20-	lkoZtfud foÙk çca/u ç.kkyh ds flaxy uksMy ,tsalh 
(SNA) MS'kcksMZ ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s% 

	 1-	 ;g dsaæ çk;ksftr ;kstukvksa ds fy;s /u tkjh 
djus] forfjr djus vkSj fuxjkuh djus ds rjhds 
ds laca/ esa 2021 esa 'kq: fd;k x;k ,d cM+k 
lq/kj gSA 

	 2-	 ;g lHkh jkT;ksa ds foÙk dks fu;af=kr djsxkA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2 

	21-	fu;kscSad ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 os Lora=k :i ls dke djrs gSa] u fd ikjaifjd 
cSadksa ds lkFk lk>snkjh esaA 

	 2-	 isiy fu;kscSad dk ,d mnkgj.k gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2 

	22-	Hkkjr xkSjo ;kstuk ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s% 

	 1-	 bl ;kstuk ds rgr Vªsuksa esa vc eky vkSj lsokvksa 
ds vykok i;ZVu ,d rhljk vuqHkkx gSA 

	 2-	 bu Vªsuksa dk lapkyu dsoy futh Hkkxhnkj gh djsaxsA 
	 3-	 bl igy ds rgr Vªsusa fu;fer Vªsuksa dh rjg mfpr 

le; ij ugha pysaxhA   

	 	mi;ZqDRk esa ls dkSu&lk@ls dFku lgh gS@gSa\ 

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 3 	 (d)	2 vkSj 3

	 23-	fuEufyf•r dFkuksa ij fopkj dhft;s% 

	 1-	 c<+rk pkyw •krk ?kkVk ns'k dh eqæk dks de”kksj 
djrk gSA

	 2-	 pkyw •krk ?kkVk vkSj jktdks"kh; ?kkVk ,d lkFk 
nksgjs ?kkVs ds :i esa tkus tkrs gSaA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2 

	 20.	 Regarding the Single Nodal Agency (SNA) 
dashboard of the Public Finance Management 
System, consider the following statements:

	 1.	 This is a major reform launched in 2021 
with respect to the way funds are released, 
distributed and monitored for centrally 
sponsored schemes.

	 2.	 It will control the finances of all the states.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only
	 (b)	 2 Only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 21.	 Regarding Neobank, consider the following 

statements:
	 1.	 They operate independently, not in partnership 

with traditional banks.
	 2.	 PayPal is an example of Neobank.
		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1
	 (b)	 Only 2
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 22.	 Regarding Bharat Gaurav Yojana, consider the 

following statements:
	 1.	 Tourism is now a third section besides goods 

and services in trains under this scheme.
	 2.	 Only private partners will operate these trains.
	 3.	 Under this initiative, trains will not run on 

proper timings like regular trains.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 1 and 3	 (d)	 2 and 3
	 23.	 Consider the following statements:
	 1.	 Rising current account deficit weakens the 

country's currency.
	 2.	 Current account deficit and fiscal deficit 

together is known as double deficit.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only
	 (b)	 2 Only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	 24-	fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 LVSxÝys'ku dks ,d ,slh fLFkfr ds :i esa ifjHkkf"kr 

fd;k tkrk gS] ftlesa oLrqvksa ds ewY; esa o`f¼ 
ds lkFk&lkFk vkfFkZd fodkl dh xfr de gks 
tkrh gSA

	 2-	 eqækLiQhfr dks Hkkjrh; çfrHkwfr vkSj fofue; cksMZ 
}kjk ekSfæd uhfr esa mfpr ifjorZu ds ekè;e ls 
fu;af=kr fd;k tkrk gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 25-	ih,e xfr'kfDRk ds n`f"Vdks.k ds vuq:i mÙkj&iwoZ dh 
vko';drkvksa dh iwfrZ ds fy;s cqfu;knh lqfo/kvksa vkSj 
lkekftd fodkl dh ifj;kstukvksa ds foÙk iks"k.k gsrq 
mÙkj&iwoZ ifj"kn ds ekè;e ls fdl ,d ubZ ;kstuk dh 
?kks"k.kk dsaæh; ctV 2022&23 esa dh xbZ gS\

	 (a)	 ih,e&fMokbu 	 (b)	ih,e&fdlku 
	 (c)	 ih,e&fe=k 	 (d)	ih,e&lqj{kk 

	26-	bZ&Je iksVZy ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bldk mís'; ns'k esa vlaxfBr Jfedksa ds O;kid 
jk"Vªh; MsVkcsl dk fuekZ.k djuk gSA 

	 2-	 blds rgr Jfedksa dks 12 vadksa dk fof'k"V uacj 
okyk bZ&Je dkMZ tkjh fd;k tk,xkA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 27-	Lyks iQS'ku ewoesaV ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g u, iQS'ku vo/kj.kkvksa dks viukus dh /heh 
çfØ;k ls lacaf/r gSA  

	 2-	 ;g diM+ksa ds mRiknu dk ,d n`f"Vdks.k gS] tks 
vkiwfrZ   Ük`a•yk ds lHkh igyqvksa dks è;ku esa 
j•rk gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	28-	fczDl ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 ;g mÙkjh vVykafVd laf/ laxBu (ukVks) ds çHkko 

dk eqdkcyk djus vkSj blds fodYi ds :i esa 
mHkjus ds ,dek=k mís'; ds lkFk LFkkfir fd;k 
x;k FkkA 

	 2-	 U;w MsoyiesaV cSad (NDB) fczDl dh igyksa esa ls 
,d gSA 

	 24.	 Consider the following statements:
	 1.	 Stagflation is defined as a condition in which 

the pace of economic growth decreases along 
with the increase in the price of goods.

	 2.	 Inflation is controlled by the Securities and 
Exchange Board of India through appropriate 
changes in monetary policy.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 25.	 According to the vision of PM Gatishakti, which 

new scheme has been announced in the Union 
Budget 2022-23 through the North-East Council 
for financing the projects of infrastructure and 
social development to meet the needs of the North-
East?

	 (a)	 PM-Divine	 (b)	 PM-Kisan
	 (c)	 PM-Mitra	 (d)	 PM-Suraksha
	 26.	 Regarding e-shram portal, consider the following 

statements:
	 1.	 It aims to build a comprehensive national  

database of unorganized workers in the 
country.

	 2.	 Under this, a 12-digit unique number e-shram 
card will be issued to the workers.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 27.	 Regarding the Slow Fashion Movement, consider 

the following statements:
	 1.	 It is related to the slow process of adopting 

new fashion concepts.
	 2.	 It is an approach to clothing production, which 

takes into account all aspects of the supply 
chain.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 28.	 Regarding BRICS, consider the following  

statements:
	 1.	 It was established with the sole objective of 

countering the influence of the North Atlantic 
Treaty Organization (NATO) and emerging as 
an alternative to it.

	 2.	 New Development Bank (NDB) is one of the 
initiatives of BRICS.
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	 3-	 fczDl lewg esa 'kkfey lHkh ns'k G20 ds Hkh 
lnL; gSaA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2 
	 (c)	 dsoy 2 vkSj 3 	 (d)	1] 2 vkSj 3 

	 29-	fuEufyf•r esa ls dkSu&ls ns'k o"kZ 2021 esa fczDl U;w 
MsoyiesaV cSad ds lnL; cus gSa\

	 1-	 la;qDRk vjc vehjkr 	 2-	ckaXykns'k 
	 3-	 dqoSr 	 4-	felz 
	 5-	 baMksusf'k;k 	 6-	m#Xos 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 3 vkSj 4 
	 (b)	 dsoy 1] 2] 4 vkSj 6
	 (c)	 dsoy 2] 3] 5 vkSj 6 
	 (d)	 1] 2] 3] 4] 5 vkSj 6 

	30-	if'pe lsrh fo|qr ifj;kstuk ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g ,d çLrkfor tyfo|qr ifj;kstuk gS] ftls 
HkwVku esa lsrh unh ij cuk;k tkuk gSA

	 2-	 ;g çLrkfor 750 esxkokV dh tyfo|qr 
ifj;kstuk gSA  

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	31-	Hkkjr&ckaXykns'k laca/ ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 dksydkrk ls •qyuk rd ca/u ,Dlçsl Hkkjr vkSj 
ckaXykns'k ds chp ,d jsyos fyad gSA

	 2-	 laçhfr vH;kl nksuksa ns'kksa dh Fky lsukvksa ds chp 
,d j{kk lg;ksx gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 32-	Hkkjr&tkiku laca/ ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 Hkkjr vkSj tkiku nksuksa G20 vkSj G4 ds lnL; gSaA
	 2-	 Hkkjr vkSj tkiku ukSlsuk] ok;qlsuk vkSj Fkylsuk 

ds eè; Øe'k% ftesDl] f'kuk;q eS=kh vkSj /eZ 
xkftZ;u lSU; vH;kl djrs gSaA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 3.	 All the countries included in the BRICS 
grouping are also members of the G20.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 1 and 2 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 29.	 Which of the following countries have become a 

member of the BRICS New Development Bank in 
the year 2021?

	 1.	 United Arab Emirates		  2. Bangladesh
	 3.	 Kuwait		  4. Egypt
	 5.	 Indonesia		  6. Uruguay
		  Select the correct answer using the code given 

below:
	 (a)	 1, 3 and 4 Only
	 (b)	 1, 2, 4 and 6 Only
	 (c)	 2, 3, 5 and 6 Only
	 (d)	 1, 2, 3, 4, 5 and 6
	 30.	 Regarding the Paschim Seti Power Project, 

consider the following statements:
	 1.	 It is a proposed hydroelectric project to be 

built on the Seti River in Bhutan.
	 2.	 It is a proposed 750 MW hydroelectric project.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 31.	 Regarding India-Bangladesh relation, consider the 

following statements:
	 1.	 The Bandhan Express from Kolkata to 

Khulna is a railway link between India and 
Bangladesh.

	 2.	 Exercise Sampriti is a defense cooperation 
between the ground forces of the two 
countries.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 32.	 Regarding India-Japan relations, consider the 

following statements:
	 1.	 Both India and Japan are members of G20 

and G4.
	 2.	 Gymex, Shinyu Maitri and Dharma Guardian 

conduct military exercises between the Navy, 
Air Force and Army of India and Japan 
respectively.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 33-	jkels gaV flaMªkse ds laca/ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s% 

	 1-	 bl flaMªkse dks gjiht tksLVj vksfVdl ds uke 
ls Hkh tkuk tkrk gSA 

	 2-	 ;g ,d çdkj dk cSDVhfj;y flaMªkse gSA
	 3-	 ;g psgjs ij vLFkk;h i{kk?kkr dk dkj.k gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2 vkSj 3

	34-	,uksdksoSDl (Anocovax) ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g tkuojksa ds fy;s Hkkjr dh igyh dksfoM&19 
oSDlhu gSA 

	 2-	 blesa ,d fuf"Ø; lklZ&dkso&2 MsYVk Vhdk gSA 
	 3-	 bls us'kuy fjlpZ lsaVj vkWu bfDoul] fglkj }kjk 

fodflr fd;k x;k gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 35.	thlSV&24 ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bls th,l,yoh&,iQ10 }kjk ykWUp fd;k x;k gSA 
	 2-	 ;g 24&ds;w cSaM lapkj mixzg gSA 
	 3-	 bldh iw.kZ {kerk blds çfrc¼ xzkgd fjyk;al 

ftvks dks yht ij nh tk;sxhA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1 vkSj 2	 (b)	dsoy 3
	 (c)	 2 vkSj 3	 (d)	dsoy 2

	36-	fuEufyf•r dFkuksa ij fopkj dhft;s% 

	 1-	 5G gkbZ&cSaM LisDVªe dk ijh{k.k 20 xhxkfcV çfr 
lsdaM ftruk rst xfr çkIr djus ds fy;s fd;k 
x;k gSA

	 2-	 5G rduhd baVjusV vkWiQ fFkaXl] vkWxesaVsM 
fj;fyVh] opZqvy fj;fyVh vkSj vkfVZfiQf'k;y 
baVsfytsal tSlh ubZ rduhd dks] etcwrh çnku 
djsxkA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2 

	 33.	 Regarding Ramsay Hunt syndrome, consider the 
following statements:

	 1.	 This syndrome is also known as herpes zoster 
oticus.

	 2.	 It is a type of bacterial syndrome.
	 3.	 It is the cause of temporary paralysis on the 

face.
		  Which of the above statements are correct?
	 (a)	 1 and 2 Only
	 (b)	 1 and 3 Only
	 (c)	 2 and 3 Only
	 (d)	 1, 2 and 3
	 34.	 Regarding Anocovax, consider the following 

statements:
	 1.	 This is India's first Covid-19 vaccine for 

animals.
	 2.	 It contains an inactivated SARS-CoV-2 delta 

vaccine.
	 3.	 It has been developed by the National 

Research Center on Equines, Hisar.
		  Which of the above statements are correct?
	 (a)	 1 and 2 Only	 (b)	 1 and 3 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 35.	 Regarding GSAT-24, consider the following 

statements:
	 1.	 It is launched by GSLV-F10.
	 2.	 It is a 24-Ku band communication satellite.
	 3.	 Its full capacity will be leased to its committed 

customer -Reliance Jio.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 2	 (b)	 3 Only
	 (c)	 2 and 3	 (d)	 2 Only
	 36.	 Consider the following statements:
	 1.	 5G high-band spectrum has been tested to 

achieve speeds as fast as 20 gigabits per 
second.

	 2.	 5G technology will strengthen new 
technology like Internet of Things, 
Augmented Reality, Virtual Reality and 
Artificial Intelligence.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only
	 (b)	 2 Only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2



11
lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009

nwjHkk"k% 8750187501, 011-47532596
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 37-	oYMZ okbM osc ds laLdj.kksa ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s% 

	 1-	 osc 1-0 dh 'kq#vkr 20oha lnh ds iwokZ¼Z esa mÙkjh 
vesfjdk esa gqbZ FkhA 

	 2-	 osc 3-0 ,d fMftVy nqfu;k cukus dk ç;kl djrk 
gS] tgk¡ yksx fdlh eè;LFk dh vko';drk ds 
fcuk ^jhM&jkbV&,DthD;wV* djus esa l{ke gksaxsA 

	 3-	 osc 2-0 dks ̂ dsoy i<+us* ds fy;s baVjusV ds :i 
esa Hkh tkuk tkrk gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 1 vkSj 2	 (b)	dsoy 2 
	 (c)	 1 vkSj 3 	 (d)	dsoy 3 

	38-	xS;k varfj{k os/'kkyk fe'ku ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g fe'ku uklk }kjk 2013 esa 'kq: fd;k x;k FkkA 
	 2-	 bl fe'ku dk mís'; vkdk'kxaxk ds 100 vjc 

flrkjksa esa ls 1 çfr'kr flrkjksa dk loZs{k.k djds 
vkdk'kxaxk dk lcls lVhd vkSj iw.kZ 3D ekufp=k 
cukuk gSA

	 3-	 ;g varfj{k ;ku ySxzsat 2 ij fLFkr gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 3 	 (b)	1 vkSj 3  
	 (c)	 2 vkSj 3 	 (d)	1 vkSj 2 

	39-	fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 Vkbi&1 e/qesg dks fd'kksj&e/qesg ds :i esa tkuk 

tkrk gSA 
	 2-	 Vkbi&1 e/qesg rc gksrk gS tc vXU;k'k; iwjh 

rjg ls balqfyu dk mRiknu can dj nsrk gSA 
	 3-	 Vkbi&2 e/qesg dh rqyuk esa Vkbi&1 e/qesg cgqr 

vf/d xaHkhj ugha gSA 
	 4-	 Vkbi&1 e/qesg dk çlkj cgqr vf/d gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1 vkSj 2 	 (b)	2 vkSj 3 
	 (c)	 3 vkSj 4 	 (d)	1 vkSj 4 

	 40-	fØfVdy baiQkWeZs'ku baÚkLVªDpj (CII) ds lanHkZ   esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr dk lafo/ku ljdkj dks ml fMftVy laifÙk 
dh lqj{kk ds fy;s fdlh Hkh MsVk] MsVkcsl] vkbZVh 
usVodZ ;k lapkj cqfu;knh <ka¡ps dks fØfVdy baiQkWeZs'ku 
baÚkLVªDpj ?kksf"kr djus dk vf/dkj nsrk gSA

	 2-	 fØfVdy baiQkWeZs'ku baÚkLVªDpj ç.kkyh dh lqj{kk 
dh ewy ftEesnkjh Hkkjr ljdkj dh gksxhA

	 3-	 jk"Vªh; egÙoiw.kZ lwpuk volajpuk laj{k.k dsaæ 
(NCIIPC) ns'k dh egÙoiw.kZ lwpuk volajpuk 
dh lqj{kk ds fy;s lHkh mik; djus ds fy;s uksMy 
,tsalh gSA

	 37.	 Regarding the volumes of the World Wide Web, 
consider the following statements:

	 1.	 Web 1.0 originated in North America in the 
first half of the 20th century.

	 2.	 Web 3.0 seeks to create a digital world, where 
people will be able to 'read-write-execute' 
without the need of an intermediary.

	 3.	 Web 2.0 is also known as 'read only' internet.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 2	 (b)	 2 Only
	 (c)	 1 and 3	 (d)	 3 Only
	 38.	 Regarding the Gaia Space Observatory mission, 

consider the following statements:
	 1.	 This mission was launched by NASA in 2013.
	 2.	 The mission aims to create the most accurate 

and complete 3D map of the Milky Way by 
surveying 1 percent of the galaxy's 100 billion 
stars.

	 3.	 This spacecraft is located on Lagrange 2.
		  Which of the above statement(s) is/are correct?
	 (a)	 3 Only	 (b)	 1 and 3
	 (c)	 2 and 3	 (d)	 1 and 2
	 39.	 Consider the following statements:
	 1.	 Type-1 diabetes is known as juvenile diabetes.
	 2.	 Type-1 diabetes occurs when the pancreas 

completely stops producing insulin.
	 3.	 Type-1 diabetes is not much more serious than 

type-2 diabetes.
	 4.	 The prevalence of type-1 diabetes is very high.
		  Which of the above statements are correct?
	 (a)	 1 and 2	 (b)	 2 and 3
	 (c)	 3 and 4	 (d)	 1 and 4
	 40.	 Regarding Critical Information Infrastructure 

(CII), consider the following statements:
	 1.	 The Constitution of India empowers the 

government to declare any data, database, IT 
network or communication infrastructure as 
critical information infrastructure to protect 
that digital asset.

	 2.	 The basic responsibility of the security of the 
Critical Information Infrastructure system will 
rest with the Government of India.

	 3.	 The National Center for Protection of Critical 
Information Infrastructure (NCIIPC) is the 
nodal agency for taking all measures to protect 
the critical information infrastructure of the 
country.
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	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 3 	 (b)	1 vkSj 3  
	 (c)	 2 vkSj 3 	 (d)	1 vkSj 2 

	 41-	gky gh esa jk"Vªh; lqijdaI;wfVax fe'ku pj.k&2 ds rgr  
fdl 'kgj esa ije iks#y lqij daI;wVj dh LFkkiuk dh 
xbZ gS\

	 (a)	 fr#fpjkiYyh 	 (b)	ukxiqj 
	 (c)	 vgenkckn 	 (d)	caxyq#

	42-	fiQf'kax dSV ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s% 

	 1-	 lajf{kr {ks=k usVodZ ds ckgj fiQf'kax dSV ij 
vk;ksftr fo'o dh igyh tux.kuk dksYys: >hy 
esa dh xbZ gSA 

	 2-	 os viuk vf/dka'k thou ty fudk;ksa ds ikl 
?kuh ouLifr;ksa okys {ks=kksa esa fcrkrs gSaA 

	 3-	 bls Hkkjrh; oU;tho laj{k.k vf/fu;e] 1972 dh 
vuqlwph 1 esa 'kkfey fd;k x;k gSA  

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
	 (a)	 dsoy 3 	 (b)	2 vkSj 3 
	 (c)	 1 vkSj 3	 (d)	1 vkSj 2 

	43-	yhM&vkbZVh igy ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s% 

	 1-	 bls Hkkjr vkSj ;w,l, ds lg;ksx ls çkjaHk fd;k 
FkkA

	 2-	 bldk mís'; nksuksa ns'kksa ds chp j{kk fuekZ.k 
çkS|ksfxdh ds gLrkarj.k dks c<+kok nsuk FkkA 

	 3-	 ;g mu ns'kksa vkSj daifu;ksa dks Hkh laxfBr djrk 
gS tks isfjl le>kSrs dks gkfly djus ds fy;s 
çfrc¼ gSaA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 3 	 (b)	2 vkSj 3 
	 (c)	 1 vkSj 3	 (d)	1 vkSj 2 

	44-	bdks&lsaflfVo tksu (ESZs) ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s% 

	 1-	 bdks&lsaflfVo tksu dks jk"Vªh; m|kuksa vkSj oU;tho 
vHk;kj.;ksa ds 10 fdeh ds Hkhrj ds {ks=kksa ds :i 
esa ifjHkkf"kr fd;k x;k gSA 

	 2-	 ;s oU;tho (laj{k.k) vf/fu;e] 1972 ds rgr 
fu/kZfjr fd;s x, gSaA 

	 3-	 bdks&lsaflfVo tksu lajf{kr {ks=k esa 'kkWd vkWCtoZj 
dk dk;Z djrk gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\ 
	 (a)	 1 vkSj 2	 (b)	dsoy 2 
	 (c)	 1 vkSj 3 	 (d)	dsoy 3 

		  Which of the above statement(s) is/are correct?
	 (a)	 3 Only	 (b)	 1 and 3
	 (c)	 2 and 3	 (d)	 1 and 2
	 41.	 Recently in which city Param Porul Supercomputer 

has been established under National Super 
Computing Mission Phase-II?

	 (a)	 Tiruchirappalli	 (b)	 Nagpur
	 (c)	 Ahmedabad	 (d)	 Bangalore
	 42.	 Regarding the fishing cat, consider the following 

statements:
	 1.	 The world's first census on fishing cats 

outside the protected area network has been 
conducted at Kolleru Lake.

	 2.	 They spend most of their life in densely 
vegetated areas near water bodies.

	 3.	 It has been included in Schedule 1 of the 
Indian Wildlife Protection Act, 1972.

		  Which of the above statement(s) is/are correct?
	 (a)	 3 Only	 (b)	 2 and 3
	 (c)	 1 and 3	 (d)	 1 and 2
	 43.	 Regarding the LEED-IT initiative, consider the 

following statements:
	 1.	 It was started by India in collaboration with 

USA.
	 2.	 Its objective was to promote the transfer of 

defense manufacturing technology between 
the two countries.

	 3.	 It also organizes countries and companies 
that are committed to achieving the Paris 
Agreement.

		  Which of the above statement(s) is/are correct?
	 (a)	 3 Only	 (b)	 2 and 3
	 (c)	 1 and 3	 (d)	 1 and 2
	 44.	 Regarding Eco-sensitive Zones (ESZs), consider 

the following statements:
	 1.	 Eco-sensitive zones are defined as areas 

within 10 km of national parks and wildlife 
sanctuaries.

	 2.	 These have been prescribed under the Wildlife 
(Protection) Act, 1972.

	 3.	 Eco-sensitive zone acts as a shock observer 
in the protected area.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 and 2	 (b)	 2 Only
	 (c)	 1 and 3	 (d)	 3 Only
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	45-	ykbiQ ewoesaV ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s% 

	 1-	 ykbiQ dk fopkj Hkkjr }kjk o"kZ 2021 esa Xyklxks 
esa 26osa la;qDRk jk"Vª tyok;q ifjorZu lEesyu 
(COP–26) ds nkSjku çLrqr fd;k x;k FkkA 

	 2-	 bldk mís'; çpfyr ^mi;ksx vkSj fuiVku* 
vFkZO;oLFkk dks ,d pØh; vFkZO;oLFkk }kjk 
çfrLFkkfir djuk gSA 

	 3-	 bl fe'ku dh ;kstuk O;fDRk;ksa ds ,d oSf'od 
usVodZ cukus vkSj mldk iks"k.k djus dh gS] 
ftldk uke ^çks&IySusV ihiy* (P3) gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\ 

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	46-	xzhu tkWCl ds varxZr fuEufyf•r esa ls dkSu&ls 
'kkfey gSa%

	 1-	 vif'k"V vkSj çnw"k.k dks de djuk 
	 2-	 ikfjfLFkfrdh ra=k dks j{kk vkSj iquLFkkZfir djuk
	 3.	 xzhu gkml xSl ds mRltZu dks de djuk 
	 4-	 tyok;q ifjorZu ds çHkkoksa ds vuqdwyu dk leFkZu 

djuk 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj dk p;u 
dhft;s%

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 1] 3 vkSj 4 
	 (c)	 dsoy 2] 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4 

	47-	dkaxsj ?kkVh jk"Vªh; m|ku ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s% 

	 1-	 ;g NÙkhlx<+ jkT; esa fLFkr gSA
	 2-	 dkaxsj ?kkVh jk"Vªh; m|ku ds vanj ,d xk¡o ds 

lkeqnkf;d ou lalk/u (CFR) vf/dkjksa dks 
ekU;rk nsus okyk NÙkhlx<+ ns'k dk igyk jkT; 
cu x;k gSA

	 3-	 blesa eq[; :i ls >kfM+;k¡ vkSj dk¡Vsnkj o`{kksa dh 
çkÑfrd ouLifr;k¡ ikbZ tkrh gSaA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2 
	 (c)	 dsoy 2 vkSj 3 	 (d)	1] 2 vkSj 3 

	48-	ou vf/dkj vf/fu;e 2006 (FRA) fuEufyf•r esa 
ls fdlesa lkeqnkf;d vf/dkj vkSj lkeqnkf;d ou 
lalk/u vf/dkj dks ekU;rk çnku djrk gS\

	 1-	 oU;tho vHk;kj.k 	 2-	Vkbxj fjtoZ 
	 3-	 jk"Vªh; m|ku 	 4-	lHkh ou Hkwfe 

	 45.	 Regarding the Life Movement, consider the 
following statements:

	 1.	 The idea of Life was presented by India during 
the 26th United Nations Climate Change 
Conference (COP-26) in Glasgow in the year 
2021.

	 2.	 It aims to replace the prevailing 'use and 
disposal' economy by a cyclical one.

	 3.	 The mission plans to build and nurture a global 
network of individuals, named 'Pro-Planet 
People' (P3).

		  Which of the above statements are correct?
	 (a)	 1 and 2 Only	 (b)	 1 and 3 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 46.	 Which of the following are included under Green 

Jobs:
	 1.	 Reducing Waste and Pollution
	 2.	 Protecting and restoring the ecosystem
	 3.	 Reducing Green House Gas Emissions
	 4.	 Supporting adaptation to the effects of climate 

change
		  Select the correct answer using the code given 

below:
	 (a)	 1 and 2 Only
	 (b)	 1, 3 and 4 Only
	 (c)	 2, 3 and 4 Only
	 (d)	 1, 2, 3 and 4
	 47.	 Regarding the Kanger Valley National Park, 

consider the following statements:
	 1.	 It is located in the state of Chhattisgarh.
	 2.	 Chhattisgarh has become the first state in 

the country to recognize Community Forest 
Resource (CFR) rights of a village within the 
Kanger Ghati National Park.

	 3.	 Natural vegetation of mainly shrubs and 
thorny trees is found in this.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 1 and 2 Only 
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 48.	 The Forest Rights Act 2006 (FRA) recognizes 

community rights and community forest resource 
rights in which of the following?

	 1.	 Wildlife Sanctuary	 2.	 Tiger Reserve
	 3.	 National Park	 4.	 All Forest Lands
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	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj dk p;u 
dhft;s%

	 (a)	 dsoy 1] 2 vkSj 3
	 (b)	 dsoy 1] 2 vkSj 4
	 (c)	 dsoy 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	49-	dsaæh; fpfM+;k?kj çkf/dj.k (CZA) ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 bldh LFkkiuk ds fy;s ou laj{k.k vf/fu;e 
1980 ds rgr çko/ku fd;k x;k gSA

	 2-	 blesa ,d vè;{k] nl lfpo vkSj ,d lnL; 
lfpo gksrs gSaA

	 3-	 Hkkjr esa çR;sd fpfM+;k?kj dks vius lapkyu ds 
fy;s eatwjh dh vko';drk gksrh gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	2 vkSj 3 
	 (c)	 1 vkSj 3	 (d)	1 vkSj 2 

	50-	lkok >hy ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g >hy bjkd esa fLFkr gSA 
	 2-	 bls bjkd esa nf{k.k dk eksrh Hkh dgk tkrk gSA 
	 3-	 orZeku esa ;g >hy iw.kZr% lw• xbZ gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\ 

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	51-	fuEufyf•r dFkuksa ij fopkj dhft;s %

	 1-	 Cyw MÔwd frryh dks flfDde dh jktdh; frryh 
?kksf"kr fd;k x;k gSA 

	 2-	 Cyw MÔwd oU;tho laj{k.k vf/fu;e 1972 dh 
vuqlwph 1 esa 'kkfey fd;k x;k gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2 

	52-	tqM+ok pØokr fdls dgk tkrk gS\

	 (a)	 tc nks pØokr ,d gh v{kka'k ij mRiUu gksrs gSaA 
	 (b)	 tc nks pØokr ,d gh ns'kkarj ij mRiUu gksrs gSaA
	 (c)	 tc nks pØokr vyx&vyx v{kka'k ij mRiUu 

gksrs gSaA 
	 (d)	 tc nks pØokr vyx&vyx ns'kkarj ij mRiUu 

gksrs gSaA 

		  Select the correct answer using the code given 
below:

	 (a)	 1, 2 and 3 Only
	 (b)	 1, 2 and 4 Only
	 (c)	 3 and 4 Only
	 (d)	 1, 2, 3 and 4
	 49.	 Regarding the Central Zoo Authority (CZA), 

consider the following statements:
	 1.	 Provision has been made for its establishment 

under the Forest Conservation Act 1980.
	 2.	 It consists of a chairman, ten secretaries and 

a member secretary.
	 3.	 Every zoo in India needs approval for its 

operation.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 and 3
	 (c)	 1 and 3	 (d)	 1 and 2
	 50.	 Regarding Lake Sawa, consider the following 

statements:
	 1.	 This lake is located in Iraq.
	 2.	 It is also called the pearl of the south in Iraq.
	 3.	 At present this lake has completely dried up.
		  Which of the above statements are correct?
	 (a)	 1 and 2 Only	 (b)	 1 and 3 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 51.	 Consider the following statements:
	 1.	 Blue Duke Butterfly has been declared as the 

state butterfly of Sikkim.
	 2.	 Blue Duke is included in Schedule 1 of the 

Wildlife Protection Act 1972.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only
	 (b)	 2 Only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 52.	 What is called twin cyclone?
	 (a)	 When two cyclones originate at the same 

latitude.
	 (b)	 When two cyclones originate at the same 

longitude.
	 (c)	 When two cyclones originate at different 

latitudes.
	 (d)	 When two cyclones originate at different 

longitudes.
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	53-	gky gh esa pØokr djhe vkSj pØokr vlkuh fgan 
egklkxj {ks=k esa fodflr gqvk] bldk uke Øe'k% fdu 
ns'kksa }kjk lq>k;k x;k Fkk\

	 (a)	 ls'ksYl vkSj ckaXykns'k
 	 (b)	 ekWjh'kl vkSj ckaXykns'k 
	 (c)	 ls'ksYl vkSj Jhyadk
 	 (d)	 Jhyadk vkSj ekWjh'kl 

	54-	jkWtoh rjax ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g eSMsu&twfy;u vkWflys'ku (MJO) ds iwohZ 
fgLls esa gSA

	 2-	 ;g i`Foh ds ?kw.kZu ds dkj.k mRiUu gksrh gSA
	 3-	 bldh rjax nSè;Z yxHkx 4000&5000 fdyksehVj 

rd fo'kky gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\ 
	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

 55-		dkslh unh ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g ,d lhek&ikjh; unh gS tks usiky vkSj Hkkjr 
ls gksdj çokfgr gksrh gSA

	 2-	 Hkkjr dh lHkh çeq• ufn;ksa dh rqyuk esa blesa 
xkn vkSj jsr dh ek=kk lcls de ikbZ tkrh gSA

	 3-	 bls fcgkj dk 'kksd dgk tkrk gSA
	 4-	 v#.k] jkexaxk] rSewj vkfn bldh çeq• lgk;d 

unh gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1 vkSj 3 	 (b)	2 vkSj 3 
	 (c)	 3 vkSj 4 	 (d)	1 vkSj 4 

	56-	vijaijkxr ty lalk/u ds varxZr fuEufyf•r esa ls 
dkSu&lk@ls 'kkfey gS@gSa\

	 1-	 •kjk ty 
	 2-	 mipkfjr ;k vuqipkfjr ty çokg 
	 3-	 yo.k ;qDRk ty  
	 4-	 Ñf"k flapkbZ ds fy;s viokfgr ty 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1] 2 vkSj 3 	 (b)	dsoy 1] 2 vkSj 4 
	 (c)	 dsoy 3 vkSj 4 	 (d)	1] 2] 3 vkSj 4 

	57-	fVfMax&V~;wfVax lpj tksu (TTSZ) ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ;g iwohZ fgeky; dk çeq• fgLlk gS] tgk¡ fgeky; 
v{kla?kh; eksM+ cukrk gqvk nf{k.k dh rjiQ 
baMks&cekZ Js.kh ls tqM+ tkrk gSA 

	 2-	 if'pe fgeky; v{kla?kh; eksM+ uaxk ioZr ds ikl 
fLFkr gS 

	 53.	 Recently Cyclone Karim and Cyclone Asani 
developed in the Indian Ocean region, its name 
was suggested by which countries respectively?

	 (a)	 Seychelles and Bangladesh
	 (b)	 Mauritius and Bangladesh
	 (c)	 Seychelles and Sri Lanka
	 (d)	 Sri Lanka and Mauritius
	 54.	 Regarding Rossby wave Tarang, consider the 

following statements:
	 1.	 It is on the eastern side of the Madden-Julian 

Oscillation (MJO).
	 2.	 It arises due to the rotation of the earth.
	 3.	 Its wavelength is vast up to about 4000-5000 

km.
		  Which of the above statements are correct?
	 (a)	 1 and 3 Only	 (b)	 1 and 2 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 55.	 Regarding the Kosi River, consider the following 

statements:
	 1.	 It is a trans-border river that flows through 

Nepal and India.
	 2.	 It has the least amount of silt and sand as 

compared to all the major rivers of India.
	 3.	 It is called the mourning of Bihar.
	 4.	 Arun, Ramganga, Taimur etc. are its main 

tributaries.
		  Which of the above statements are correct?
	 (a)	 1 and 3	 (b)	 2 and 3
	 (c)	 3 and 4	 (d)	 1 and 4
	 56.	 Which of the following is/are included under 

unconventional water resources?
	 1.	 Brackish Water
	 2.	 Treated or Untreated Water Flow
	 3.	 Saline water
	 4.	 Running water for agricultural irrigation
		  Select the correct answer using the code given 

below:
	 (a)	 1, 2 and 3 Only	 (b)	 1, 2 and 4 Only
	 (c)	 3 and 4 Only	 (d)	 1, 2, 3 and 4
	 57.	 Regarding Tidying-toothing catchment zone 

(TTSZ), consider the following statements:
	 1.	 It is a major part of the Eastern Himalayas, 

where the Himalayas join the Indo-Burma 
range to the south, forming a axial bend.

	 2.	 The Western Himalaya Axis is located near 
the Nanga Parbat
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	 3-	 iwohZ fgeky; v{kla?kh; daputaxk ds ikl 
fLFkr gSA

	 4-	 TTSZ yxHkx 500 fdeh dh xgjkbZ rd Hkwdaih; 
:i ls lfØ; gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1 vkSj 4 	 (b)	3 vkSj 4 
	 (c)	 2 vkSj 3 	 (d)	1 vkSj 2

	58-	unh ç.kkyh vfLFkjrk ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g le'khrks".k {ks=kksa dh ufn;ksa ls lacaf/r ,d 
fof'k"V ?kVuk gSA 

	 2-	 ,slh ?kVuk ,d n'kd ;k ,d lnh esa ,d ckj ;k 
mlls Hkh de gksrh gSA

	 3-	 ,oY'ku unh ds izokg ds nkSjku ifjorZu dh ?kVuk 
dks lanfHkZr djrh gS] ftlds varxZr iqjkuh ç.kkyh 
LFkkfir unh ç.kkyh ds LFkku ij ubZ unh ç.kkyh 
dk fuekZ.k gksrk gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
	 (a)	 dsoy 1
	 (b)	 dsoy 1 vkSj 2 
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2 vkSj 3 

	 59-	;kafDRk dqVh ?kkVh ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g fgekpy çns'k esa vofLFkr gSA
	 2-	 ;g ?kkVh dqVh ;kafDRk unh }kjk fufeZr mÙkj ls 

nf{k.k&iwoZ v{k ds lkFk&lkFk pyrh gSA 
	 3-	 gky gh esa bl ?kkVh esa fgeunksa dh çxfr dh dbZ 

?kVuk,¡ lkeus vkbZ gSaA 
	 4-	 bl ?kkVh esa HkksfV;k leqnk; dk çHkqRo gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1] 3 vkSj 4
	 (b)	 dsoy 1 vkSj 4 
	 (c)	 2] 3 vkSj 4
	 (d)	 dsoy 1 vkSj 2 

	60-	Fksjh e#LFky ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 rsyaxkuk esa fLFkr ,d NksVk lk e#LFky fLFkr gSA
	 2-	 fo'ks"kKksa ds vuqlkj blds fuekZ.k esa nf{k.k&if'peh 

ekulwu dh vge Hkwfedk jgh gksxhA
	 3-	 blesa yky jsr ds Vhys ik, tkrs gSaA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 3 	 (b)	2 vkSj 3 
	 (c)	 1 vkSj 3	 (d)	1 vkSj 2 

	 3.	 The eastern Himalaya axis is located near 
Kangchenjunga.

	 4.	 The TTSZ is seismically active up to a depth 
of about 500 km.

		  Which of the above statements are correct?
	 (a)	 1 and 4	 (b)	 3 and 4
	 (c)	 2 and 3	 (d)	 1 and 2
	 58.	 Regarding river system instability, consider the 

following statements:
	 1.	 It is a typical phenomenon related to rivers of 

temperate regions.
	 2.	 Such an event occurs once in a decade or a 

century or less.
	 3.	 Avulsions refers to the phenomenon of change 

during the course of a river, whereby the old 
system is replaced by a new river system.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only
	 (b)	 1 and 2 Only
	 (c)	 2 and 3 Only
	 (d)	 1, 2 and 3
	 59.	 Regarding Yankti Kuti Valley, consider the 

following statements:
	 1.	 It is located in Himachal Pradesh.
	 2.	 This valley runs along the north to south-east 

axis formed by the Kuti Yankti River.
	 3.	 Recently there have been several incidents of 

glacial progress in this valley.
	 4.	 This valley is dominated by the Bhotia 

community.
		  Which of the above statements are correct?
	 (a)	 1, 3 and 4
	 (b)	 1 and 4 Only
	 (c)	 2, 3 and 4
	 (d)	 1 and 2 Only
	 60.	 Regarding Theri desert, consider the following 

statements:
	 1.	 A small desert situated in Telangana is 

situated.
	 2.	 According to experts, the southwest monsoon 

must have played an important role in its 
formation.

	 3.	 Red sand dunes are found in this.
		  Which of the above statement(s) is/are correct?
	 (a)	 3 Only	 (b)	 2 and 3
	 (c)	 1 and 3	 (d)	 1 and 2
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	61-	xzh"e v;ukar ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 21 twu dks mÙkjh xksyk¼Z esa xzh"e v;ukar gksrk gSA 

	 2-	 bl nkSjku lw;Z ddZ js•k ij pedrk gSA 
	 3-	 bl v;ukar ds nkSjku mÙkjh /zqo lw;Z ds nwj fLFkr 

gksrk gS vkSj nf{k.kh /zqo blds ikl fLFkr gksrk gSA 
	 4-	 uklk ds vuqlkj bl nkSjku mÙkjh /zqo ij lw;Z ls 

çkIr gksus okyh ÅtkZ Hkweè; js•k dh rqyuk esa 30 
çfr'kr vf/d çkIr gksrh gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 1] 2 vkSj 4 	 (b)	dsoy 1 vkSj 4 
	 (c)	 2] 3 vkSj 4 	 (d)	dsoy 1 vkSj 2 

	62-	vk'kk dk;ZdrkZ ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 

dhft;s%

	 1-	 bUgs fo'o LokLF; laxBu }kjk Xykscy gsYFk yhMlZ 

vokM~lZ 2022 ds :i esa lcls cM+h varjkZ"Vªh; 

ekU;rk feyh gSA 
	 2-	 bUgs 2005 esa 'kq: fd;s x, jk"Vªh; xzkeh.k LokLF; 

fe'ku ds rgr vk'kk dk;ZdÙkkZvksa dks leqnk;  

vk/kfjr LokLF; dk;ZdÙkkZvksa ds :i esa LFkkfir 

fd;k x;k FkkA 

	 3-	 vk'kk dk;ZØe dks fMtkbu djus dh lcls cM+h 
çsj.kk NÙkhlx<+ dh ferkfuu igy ls feyh FkhA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\ 

	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 63-	Xykl fDyiQ ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g ^fFkad Økbfll fFkad iQhesy* ds fl¼kar ij 

vk/kfjr gSA 
	 2-	 ;g 'kCn ,DlsVj fo'ofo|ky; ds 'kks/drkZvksa 

}kjk x<+k x;k FkkA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	64-	vkjih,iQ ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 

dhft;s%

	 1-	 bldh LFkkiuk 1982 esa dh xbZ FkhA 

	 2-	 ;g ,d dsaæh; l'kL=k cy gS] tks x`g ea=kky; ds 

varxZr dk;Z djrk gSA
	 3-	 gky gh esa buds }kjk ,d vf•y Hkkjrh; ̂ vkWijs'ku 

efgyk lqj{kk* dk vk;kstu fd;k x;kA 

	 61.	 Regarding the summer solstice, consider the 
following statements:

	 1.	 On June 21, the summer solstice occurs in the 
northern hemisphere.

	 2.	 During this time the Sun shines on the Tropic 
of Cancer.

	 3.	 During this solstice the North Pole is located 
farthest from the Sun and the South Pole is 
located near it.

	 4.	 According to NASA, during this time the 
energy received from the Sun at the North 
Pole is 30 percent more than at the equator.

		  Which of the above statements are correct?
	 (a)	 1, 2 and 4	 (b)	 1 and 4 Only
	 (c)	 2, 3 and 4	 (d)	 1 and 2 Only
	 62.	 Regarding ASHA worker, consider the following 

statements:
	 1.	 He has received the biggest international 

recognition by the World Health Organization 
in the form of Global Health Leaders Awards 
2022.

	 2.	 These ASHA workers were set up as 
community based health workers under the 
National Rural Health Mission launched in 
2005.

	 3.	 The biggest inspiration for designing the 
ASHA program came from the Mitanin 
initiative of Chhattisgarh.

		  Which of the above statements are correct?
	 (a)	 1 and 3 Only	 (b)	 1 and 2 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 63.	 Regarding Glass Cliff, consider the following 

statements:
	 1.	 It is based on the principle of 'Think Crisis 

Think Female'.
	 2.	 The term was coined by researchers from the 

University of Exeter.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 64.	 Regarding RPF, consider the following statements:
	 1.	 It was established in 1982.
	 2.	 It is a central armed force, which functions 

under the Ministry of Home Affairs.
	 3.	 Recently an all India 'Operation Mahila 

Suraksha' was organized by them.
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	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3 	 (b)	2 vkSj 3 
	 (c)	 1 vkSj 3	 (d)	1 vkSj 2 

	65-	,Uue ,>qFkqe ;kstuk fdl jkT; us 'kq: dh gS\

	 (a)	 dsjy 	 (b)	rfeyukMq 
	 (c)	 vka/z çns'k 	 (d)	dukZVd 

	66-	^Js"B* ;kstuk ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bl ;kstuk dh 'kq#vkr lkekftd U;k; ,oa 
vf/dkfjrk ea=kky; }kjk dh xbZ FkhA

	 2-	 bldk mís'; Nk=kkvksa dks xq.koÙkkiw.kZ f'k{kk vkSj 
volj çnku djuk gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	67-	lar rqdkjke ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g f'koth ds ledkyhu FksA
	 2-	 mUgksaus vHkax dfork uked lkfgR; dh ,d ejkBh 

'kSyh dh jpuk dh] ftlesa vkè;kfRed fo"k;ksa 
ds lkFk&lkFk yksd dgkfu;ksa dks lfEefyr fd;k 
x;k gSA

	 3-	 gky gh esa ukxiqj esa buds eafnj dk mn~?kkVu fd;k 
x;kA

	 4-	 mUgksaus foBksck iaFk dks yksdfç; cuk;kA
	 5-	 bUgsa okjh rhFkZ;k=kk 'kq: djus dk Js; fn;k tkrk gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2] 4 vkSj 5
	 (b)	 dsoy 1] 3 vkSj 4 
	 (c)	 dsoy 2] 3 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5  

	68-	okjdjh laçnk; ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g ,d iw.kZ HkfDRk laçnk; gS tks jkekuqt ds 
fof'k"Vrk }Srokn n'kZu esa fo'okl djrs FksA 

	 2-	 lar Kkus'oj ds bl laçnk; dks laLFkkid ekuk 
tkrk gSA

	 3-	 ukenso] rqdkjke] pks•kesyk] xkMxs egkjkt vkfn 
bl laçnk; ds çeq• lar gSaA

	 4-	 bl laçnk; esa ^iapnsoksa* dh iwtk dh tkrh gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 1] 3 vkSj 4 	 (b)	dsoy 1 vkSj 4 
	 (c)	 2] 3 vkSj 4 	 (d)	dsoy 1 vkSj 2 

		  Which of the above statement(s) is/are correct?
	 (a)	 3 Only	 (b)	 2 and 3
	 (c)	 1 and 3	 (d)	 1 and 2
	 65.	 Which state has launched the Ennam Ezhuthum 

scheme?
	 (a)	 Kerala 	 (b)	 Tamil Nadu
	 (c)	 Andhra Pradesh 	 (d)	 Karnataka
	 66.	 Consider the following statements regarding 

'Shreshtha' scheme:
	 1.	 This scheme was started by the Ministry of 

Social Justice and Empowerment.
	 2.	 Its objective is to provide quality education 

and opportunities to the girl students.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 67.	 Regarding Sant Tukaram, consider the following 

statements:
	 1.	 He was a contemporary of Shivaji.
	 2.	 He composed a Marathi genre of literature 

called Abhanga Kavita, which incorporates 
folk tales along with spiritual themes.

	 3.	 Recently his temple was inaugurated in 
Nagpur.

	 4.	 He popularized the Vithoba Panth.
	 5.	 He is credited with starting the Wari 

pilgrimage.
		  Which of the above statements are correct?
	 (a)	 1, 2, 4 and 5 Only
	 (b)	 1, 3 and 4 Only
	 (c)	 2, 3 and 5  Only
	 (d)	 1, 2, 3, 4 and 5
	 68.	 Regarding the Varkari sect, consider the following 

statements:
	 1.	 It is a complete Bhakti sect which believed in 

the unique dualism philosophy of Ramanuja.
	 2.	 Sant Dnyaneshwar is considered to be the 

founder of this sect.
	 3.	 Namdev, Tukaram, Chokhamela, Gadge 

Maharaj etc. are the main saints of this sect.
	 4.	 In this sect 'Panchdevs' are worshipped.
		  Which of the above statements are correct?
	 (a)	 1, 3 and 4	 (b)	 1 and 4 Only
	 (c)	 2, 3 and 4	 (d)	 1 and 2 Only



19
lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009

nwjHkk"k% 8750187501, 011-47532596
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 69-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		 xkSre cq¼ ds thou 		 LFky

		 dh çeq• ?kVuk,a¡

	 1-	 tUe	 —	dq'khuxj
	 2-	 Kku çkfIr 	 —	cks/x;k 
	 3-	 çFke mins'k 	 —	lkjukFk 
	 4-	 e`R;q 	 —	yqafcuh  

	 	mi;ZqDRk ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe
	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe
	 (d)	 lHkh pkjksa ;qXe

	 70.	 fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  ckS¼ eafnj@fogkj 		  LFkku
	 1-	 cVlkxku  eafnj 	 —	mykucVksj (eaxksfy;k)
	 2-	 egkfogkj eB 	 —	vuqjk/kiqj (Jhyadk)
	 3-	 ukyank fogkj 	 —	 ukyank (Hkkjr)

	 	mi;ZqDRk ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha
	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe
	 (d)	 dsoy rhu ;qXe

	71-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  tSu lkfgR; 		 ladyudrkZ 
	 1-	 vax&vkxe lkfgR; 	 —	x.k/jksa }kjk 
	 2-	 vax&czãk lkfgR; 	 —	Jqrdsofyu }kjk 
	 3-	 xSj&vkxe lkfgR; 	 —	 cM+s fHk{kqvksa] uuksa vkSj 
	 	 		 	fo}kuksa }kjk 

	 	mi;ZqDRk ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha
	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe
	 (d)	 dsoy rhu ;qXe

	 72-	iap ijes"Bh mikluk ds lanHkZ esa fuEufyf•r ;qXeksa ij 
fopkj dhft;s%

	 1-	 vfjgar	 —	 dsoy Kku çkIr djus okyh tkx`r 
	 	 		 	 vkRek
	 2-	 flf¼	 —	 os vkRek,¡ tks tUe&èR;q ds pØ 	

		 	 ls eqDRk gks pqdh gksaA
	 3-	 vkpk;Z	 —	 euq la?k ds uk;d 
	 4-	 eqfu	 —	 laU;kl /eZ dk ikyu djus okys
	 	 		 	 O;fDRk ds fy;s 

	 69.	 Consider the following pairs:
	      Major events in the life		  Place	

of Gautam Buddha
	 1.	 Birth	 -	 Kushinagar
	 2.	 Enlightenment	 -	 Bodh Gaya
	 3.	 First Sermon	 -	 Sarnath
	 4.	 Death	 -	 Lumbini
		  How many pairs given above are correctly 

matched?
	 (a)	 Only one pair
	 (b)	 Only two pairs
	 (c)	 Only three pairs
	 (d)	 All four pairs
	 70.	 Consider the following pairs:
	    Buddhist Temple/Vihar          Place
	 1.	 Batsagan Temple	 -	 Ulaanbaatar 
					    (Mongolia)
	 2.	 Mahavihara Math	 -	 Anuradhapura
					    (Sri Lanka)
	 3.	 Nalanda Vihar	 -	 Nalanda (India)
		  How many pairs given above correctly matched?
	 (a)	 None of the pairs
	 (b)	 Only one pair
	 (c)	 Only two pairs
	 (d)	 Only three pairs
	 71.	 Consider the following pairs:
	 	 Jain Literature		  Compiler
	 1.	 Anga-agama literature	 -	 by Gandharas
	 2.	 Anga-Brahma	 -	 by Shrutkevalin	

literature
	 3.	 Non-Agam literature	 -	� by great monks, 

saints and scholars
		  How many pairs given below are correctly 

matched?
	 (a)	 None of the pairs
	 (b)	 Only one pair
	 (c)	 Only two pairs
	 (d)	 Only three pairs
	 72.	 Regarding Pancha Parmeshthi Upasana, consider 

the following pairs:
	 1.	 Arihant - Awakened soul only to attain 

knowledge
	 2.	 Siddhi - Souls who have become free from 

the cycle of birth and death.
	 3.	 Acharya - Hero of Manu Sangha
	 4.	 Muni - for the person who follows the 

sannyasa religion
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	 	mi;ZqDRk ;qXeksa esa fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe 	 (b)	dsoy nks ;qXe 
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe 

	 73-	xMd okLrqdyk 'kSyh ds varxZr fuEufyf•r eafnjksa esa 
ls dkSu&ls 'kkfey gSa\

	 1-	 f=kdqVs'oj f'ko eafnj
	 2-	 efYydktZqu eafnj
	 3-	 lkses'oj eafnj
	 4-	 ohjk ukjk;.k

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 3 vkSj 4 	 (b)	dsoy 1 vkSj 4 
	 (c)	 2] 3 vkSj 4 	 (d)	dsoy 1 vkSj 2 

	74-	vksfpjk dkyh mRlo ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s% 

	 1-	 ;g rfeyukMq dk ,d ek'kZy vkVZ mRlo gSA 
	 2-	 bl R;ksgkj dks vksfpjk ijczã eafnj ls tqM+s ,d 

vuq"Bku dk ,d fgLlk Hkh ekuk tkrk gSA 
	 3-	 eè;dky esa dk;edqye vkSj vackykiq>k jkT;ksa 

ds chp ,sfrgkfld yM+kbZ dks çnf'kZr djus ds 
fy;s ;g R;kSgkj okLro esa ,d udyh yM+kbZ dks 
n'kkZrk gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 1 vkSj 3 
	 (c)	 dsoy 2 vkSj 3 	 (d)	1] 2 vkSj 3 

	75-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  fp=kdyk 		   LFkku
	 1-	 ij/ku fp=kdyk 	 —	 eè; Hkkjr 
	 2-	 jksxu fp=kdyk	 —	 dPN] xqtjkr 
	 3-	 lka>h fp=kdyk 	 —	 o`ankou] mÙkj çns'k 

	 	mi;ZqDRk ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha
	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe
	 (d)	 dsoy rhu ;qXe

	 76-	dkfydk ekrk eafnj ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g xqtjkr ds iapegy ftys ds ikokx<+ igkM+h 
ds Åij fodflr gSA 

	 2-	 bl eafnj ifjlj ds vanj ,d njxkg Hkh gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

		  How many pairs given below are correctly 
matched?

	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 73.	 Which of the following temples are included under 

Gadak architectural style?
	 1.	 Trikuteshwar Shiva Temple
	 2.	 Mallikarjuna Temple
	 3.	 Someshwara Temple
	 4.	 Veera Narayan
		  Select the correct answer using the code given 

below:
	 (a)	 1, 3 and 4	 (b)	 1 and 4 Only
	 (c)	 2, 3 and 4	 (d)	 1 and 2 Only
	 74.	 Regarding Oachira Kali festival, consider the 

following statements:
	 1.	 It is a martial arts festival of Tamil Nadu.
	 2.	 The festival is also considered a part of a ritual 

associated with the Oarchira Parabrahma 
temple.

	 3.	 This festival actually depicts a mock battle 
to depict the historical battle between the 
kingdoms of Kayamkulam and Ambalapuzha 
in the medieval period.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 1 and 3 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 75.	 Consider the following pairs:
		  Painting                           Place
	 1.	 Dress Painting	 -	 Central India
	 2.	 Rogan painting	 -	 Kutch, Gujarat
	 3.	 Sanjhi Painting	 -	� Vrindavan, Uttar 

Pradesh
		  How many pairs given above are correctly 

matched?
	 (a)	 None of the pairs
	 (b)	 One pair Only
	 (c)	 Two pairs Only
	 (d)	 Three pairs Only
	 76.	 Regarding Kalika Mata Temple, consider the 

following statements:
	 1.	 It is developed on top of Pavagadh hill in 

Panchmahal district of Gujarat.
	 2.	 There is also a Dargah inside this temple 

complex.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
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	77-	vfXuiFk ;kstuk ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s% 

	 1-	 ;g ns'kHkDRk vkSj çsfjr ;qokvksa dks rhu lky dh 
vof/ ds fy;s l'kL=k cyksa esa lsok djus dh 
vuqefr nsrk gSA 

	 2-	 lsuk esa 'kkfey gksus okys ;qokvksa dks vfXuxzkgh 
dgk tk,xkA 

	 3-	 bl ;kstuk ds rgr 17-5 o"kZ ls 21 o"kZ dh vk;q 
ds mEehnokj vkosnu djus ds ik=k gksaxsA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3 	 (b)	2 vkSj 3 
	 (c)	 1 vkSj 3	 (d)	1 vkSj 2 

	78-	vL=k ekdZ&1 ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%  

	 1-	 ;g ,d n`'; lhek ls ijs] lrg ls gok esa ekj 
djus okyh felkby gSA 

	 2-	 bldh jsat djhc 110 fdyksehVj gSA 
	 3-	 bls j{kk vuqla/ku ,oa fodkl laxBu (DRDO) 

}kjk fodflr vkSj fMtkbu fd;k x;k gSA
	 4-	 ;g èofu dh xfr ls yxHkx 4 xquk ls vf/d 

xfr ls ;k=kk dj ldrh gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1] 3 vkSj 4 	 (b)	dsoy 1 vkSj 4 
	 (c)	 2] 3 vkSj 4 	 (d)	dsoy 1 vkSj 2 

	79-	^Hkkjr esa 'kL=k fu;a=k.k dkuwu* ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 xSjdkuwuh fuekZ.k] fcØh vkSj gLrkarj.k ds fy;s 
de&ls&de lkr o"kZ dh dSn dh ltk gks 
ldrh gSA

	 2-	 Hkkjr esa canwd dk ykblsal çkIr djus ds fy;s 
U;wure vk;q lhek 18 o"kZ gSA

	 3-	 bl vf/fu;e ds rgr ykblsal dh oS/rk tkjh 
rkjh• ls 5 o"kZ dj nh xbZA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3

	 80-	fuEufyf•r ;qXeksa ij fopkj dhft;s 

	 	 (vH;kl) 		    (lacaf/r ns'k) 
	 1-	 cgqi{kh; vH;kl	 	— eaxksfy;k 
	 	 •ku DosLV 2022
	 2-	 lSU; vH;kl laçhfr&,Dl		— Hkkjr vkSj Jhyadk
	 3-	 pkSFkk dkWiZsV vH;kl 	 	— Hkkjr vkSj 
	 	 		 	  ckaXykns'k 

	 77.	 Regarding Agneepath scheme, consider the 
following statements:

	 1.	 It allows patriotic and motivated youth to 
serve in the armed forces for a period of three 
years.

	 2.	 The youth who join the army will be called 
Agnigrahi.

	 3.	 Candidates in the age group of 17.5 years to 
21 years will be eligible to apply under this 
scheme.

		  Which of the above statement(s) is/are correct?
	 (a)	 3 Only	 (b)	 2 and 3
	 (c)	 1 and 3 	 (d)	 1 and 2
	 78.	 Regarding Astra Mark-I, consider the following 

statements:
	 1.	 It is a beyond visual range, surface-to-air 

missile.
	 2.	 Its range is about 110 kilometers.
	 3.	 It has been developed and designed by 

the Defense Research and Development 
Organization (DRDO).

	 4.	 It can travel at more than 4 times the speed of 
sound.

		  Which of the above statement(s) is/are correct?
	 (a)	 1, 3 and 4	 (b)	 1 and 4 Only
	 (c)	 2, 3 and 4	 (d)	 1 and 2 Only
	 79.	 Regarding the 'Arms Control Law in India', 

consider the following statements:
	 1.	 Unlawful manufacture, sale and transfer shall 

be punishable with imprisonment of not less 
than seven years.

	 2.	 The minimum age limit for obtaining a gun 
license in India is 18 years.

	 3.	 The validity of the license under this Act has 
been increased to 5 years from the date of 
issue.

		  Which of the above statement(s) is/are correct?
	 (a)	 2 Only	 (b)	 1 and 3 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 80.	 Consider the following pairs:
	 	 (Practice)                     (Country concerned)
	 1.	 Multilateral exercise	 -	 Mongolia	

Khaan Quest 2022
	 2.	 Military Exercise	 -	 India and Sri 

Sampriti-X 		  Lanka
	 3.	 Fourth CORPAT	 -	 India and	

Exercise		  Bangladesh
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	 	mi;ZqDRk ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha 	 (b)	dsoy ,d ;qXe 

	 (c)	 dsoy nks ;qXe	 (d)	dsoy rhu ;qXe

	 81-	vkbZ,u,l funZs'kd ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s%

	 1-	 ;g ,d loZs{k.k tgkt gSA 

	 2-	 bls fuekZ.k ek>xko MkWd f'kifcYMlZ fyfeVsM 	

}kjk fd;k x;k gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2 

	 82-	D;wfcV (Qubit) 'kCn dk mYys• fuEufyf•r esa ls 

fdl ,d çlax esa gksrk gSA 

	 (a)	 DykmM daI;wfVax 

	 (b)	 DokaVe daI;wVj

	 (c)	 lqij daI;wVj 

	 (d)	 n`'; çdk'k lapkj çkS|ksfxdh 

	 83-	CykWdpksu VsDuksykWth ds lanHkZ esa] fuEufyf•r dFkuksa 

ij fopkj dhft;s%

	 1-	 ;g ,d ,slh ç.kkyh dks lanfHkZr djrk gS] ftlds 

}kjk ysu&nsu ds ckjs esa tkudkjh ,d gh daI;wVj 

ij laxzghr dh tkrh gSA

	 2-	 bl rduhd ds ekè;e ls fØIVksdjsalh dk ysu&nsu 

gksrk gSA

	 3-	 bFksfj;e CykWdpsu&vk/kfjr IysViQkWeZ dk ,d 

yksdfç; mnkgj.k gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 1 vkSj 3 
	 (c)	 dsoy 2 vkSj 3 	 (d)	1] 2 vkSj 3 

	 84-	fuEufyf•r esa ls dkSu ukWu&iQaftcy Vksdu (NFT) dk 

lcls vPNk o.kZu djrk gS\ 

	 (a)	 LokfeRo dk ,d fMftVy çek.ki=k

	 (b)	 fMftVy eqæk dk :i

	 (c)	 LVkWd ,Dlpsat Vksdu

	 (d)	 okf.kfT;d ysu&nsu ds fy;s vkWuykbu Vksdu

	 85-	vkfVZfiQf'k;y baVsfytsal ds fy;s jk"Vªh; j.kuhfr (AI for 
All) fuEufyf•r esa ls fdlds }kjk tkjh dh xbZ Fkh\

	 (a)	 bysDVªkWfuDl vkSj lwpuk çkS|ksfxdh ea=kky;

	 (b)	 foKku vkSj çkS|ksfxdh foHkkx

	 (c)	 uhfr vk;ksx

	 (d)	 lwpuk ,oa çlkj.k ea=kky; 

		  How many pairs given above are correctly 
matched?

	 (a)	 None of the pairs	 (b)	 One pair Only
	 (c)	 Two pairs Only	 (d)	 Three pairs Only
	 81.	 Regarding INS Nirdeshak, consider the following 

statements:
	 1.	 It is a survey ship.
	 2.	 It has been constructed by Mazagon Dock 

Shipbuilders Limited.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 82.	 The word Qubit is mentioned in which one of the 

following contexts?
	 (a)	 Cloud computing
	 (b)	 Quantum computer
	 (c)	 Super computer
	 (d)	 Visible Light Communication Technology
	 83.	 Regarding Blockchain technology, consider the 

following statements:
	 1.	 It refers to a system by which information 

about transactions is stored on a single 
computer.

	 2.	 Cryptocurrencies are transacted through this 
technology.

	 3.	 Ethereum is a popular example of a blockchain-
based platform.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 1 and 3 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 84.	 Which of the following best describes Non-

Fungible Token (NFT)?
	 (a)	 A digital certificate of ownership
	 (b)	 Form of digital currency
	 (c)	 Stock Exchange Token
	 (d)	 Online tokens for commercial transactions
	 85.	 National Strategy for Artificial Intelligence (AI for 

All) was released by which of the following?
	 (a)	 Ministry of Electronics and Information 

Technology
	 (b)	 Department of Science and Technology
	 (c)	 NITI Aayog
	 (d)	 Ministry of Information and Broadcasting
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	86-	Hkkjr esa i;ZVu igy ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 Lons'k n'kZu ;kstuk ns'k esa Fkhe vk/kfjr i;ZVu 
lfdZV ds ,dhÑr fodkl ds fy;s o"kZ 2014&15 
esa 'kq: dh xbZ FkhA

	 2-	 çlkn igy dks fpfÉr rhFkZ LFkyksa ds lexz fodkl 
ds mís'; ls 'kq: fd;k x;k FkkA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 87-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ';kek çlkn eq•thZ :cZu fe'ku xzkeh.k fodkl 
ea=kky; }kjk 2016 esa 'kq: fd;k x;k gSA 

	 2-	 ';kek çlkn eq•thZ :cZu fe'ku xzkeh.k {ks=kksa ds 
DyLVj vk/kfjr fodkl ds fy;s i;ZVu dks okaNuh; 
?kVdksa esa ls ,d ekurk gSA

	 	mi;ZqDRk esa ls dkSu lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 88-	fuEufyf•r esa ls ;qXeksa ij fopkj dhft;s%

	 	 (>hy) 		 (jkT;)
	 1-	 fpYdk >hy 	 —	vksfM'kk
	 2-	 cM+•y >hy 	 —	iatkc 
	 3-	 u•h >hy 	 —	jktLFkku 
	 4-	 Å¡Vh >hy 	 —	rfeyukMq 

	 	mi;ZqDRk ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe 	 (b)	dsoy nks ;qXe 
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe 

	89-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 tyçikr 		 jkT;
	 1-	 f'koleqæ 	 —	dukZVd 
	 2-	 nw/lkxj 	 —	xksok
	 3-	 #æukx 	 —	mÙkjk•aM 
	 4-	 /qvk¡/kj 	 —	eè; çns'k
	 5-	 fp=kdksV 	 —	>kj•aM
	 6-	 rkydksuk 	 —	vka/z çns'k 
	 7-	 vfFkjkiYyh 	 —	dsjy 

	 	mi;ZqDRk ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy 1] 3] 4 vkSj 5 
	 (b)	 dsoy 2] 3] 5] 6 vkSj 7 
	 (c)	 dsoy 1] 2] 4] 6 vkSj 7
	 (d)	 1] 2] 3] 4] 6] 5] 6 vkSj 7 

	 86.	 Regarding tourism initiatives in India, consider the 
following statements:

	 1.	 Swadesh Darshan Scheme was launched in 
the year 2014-15 for integrated development 
of theme based tourism circuit in the country.

	 2.	 The PRASAD initiative was launched with the 
objective of holistic development of identified 
pilgrimage sites.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 87.	 Consider the following statements:
	 1.	 Shyama Prasad Mukherjee Rurban Mission 

has been launched by the Ministry of Rural 
Development in 2016.

	 2.	 Shyama Prasad Mukherjee Rurban Mission 
considers tourism as one of the desirable 
components for cluster based development 
of rural areas.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 88.	 Consider the following pairs:
		  (Lake)                             (State)
	 1.	 Chilka Lake	 -	 Odisha
	 2.	 Badkhal Lake	 -	 Punjab
	 3.	 Nakhi Lake	 -	 Rajasthan
	 4.	 Ooty Lake	 -	 Tamil Nadu
		  How many pairs gievn above are correctly 

matched?
	 (a)	 One pair Only	 (b)	 Two pairs Only
	 (c)	 Three pairs Only	 (d)	 All four pairs
	 89.	 Consider the following pairs:
		  Waterfall	 -	 State
	 1.	 Shivasamudra	 -	 Karnataka
	 2.	 Dudhsagar 	 -	 Goa
	 3.	 Rudranag 	 -	 Uttarakhand
	 4.	 Dhuandhar 	 -	 Madhya Pradesh
	 5.	 Chitrakot 	 -	 Jharkhand
	 6.	 Talakona 	 -	 Andhra Pradesh
	 7.	 Athirapally 	 -	 Kerala
		  How many pairs given above are correctly 

matched?
	 (a)	 1, 3, 4 and 5 Only
	 (b)	 2, 3, 5, 6 and 7 Only
	 (c)	 1, 2, 4, 6 and 7 Only
	 (d)	 1, 2, 3, 4, 6, 5, 6 and 7
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	90-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 jk"Vªh; m|ku 		    vofLFkr
	 1-	 ekSfyax jk"Vªh; m|ku	 -	v#.kkpy çns'k 
	 2-	 jktckM+h jk"Vªh; m|ku	 -	 f=kiqjk 
	 3-	 dscqyySetkvks jk"Vªh;	 -	 ef.kiqj 
	 	 m|ku
	 4-	 dkthjaxk jk"Vªh; m|ku	 -	vle 

	 	mi;ZqDRk ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe

	 91-	^cSysLV ty* (Ballast Water) ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 cSysLV ty rktk ;k •kjs ikuh dks cSykLV VSadksa 
vkSj tgktksa ds dkxkZs gksYM esa j•k tkrk gSA

	 2-	 cSysLV ty leqæh i;kZoj.k ds fy;s gkfudkjd 
ekuk tkrk gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	92-	cSM cSad ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bls cSadksa ls xSj&fu"ikfnr ifjlaifÙk;ksa ;k •jkc 
½.k dks •jhnus ds fy;s LFkkfir fd;k x;k gSA 

	 2-	 bldk mís'; cSadksa ij rukoxzLr laifÙk;ksa dk cks> 
de djuk vkSj mUgsa vf/d lfØ; :i ls m/kj 
nsus ;ksX; cukuk gSA 

	 3-	 cSM cSad dk çkFkfed mís'; vR;f/d ykHk 
dekuk gSaA

	 	mi;ZqDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 	 (b)	dsoy 1 vkSj 3 
	 (c)	 dsoy 1 vkSj 2 	 (d)	1] 2 vkSj 3 

	93-	osc 5-0 ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 osc 5-0 çkS|ksfxdh O;fDRk dks vius MsVk vkSj 
igpku dks fu;af=kr djus dh vuqefr nsrk gSA 

	 2-	 bldk mís'; ,d vR;f/d fodsaæhÑr osc dk 
fuekZ.k djuk gSA 

	 3-	 osc 5-0] osc 2-0 vkSj osc 3-0 dk la;kstu gSA 
	 4-	 ;g CykWdpksu çkS|ksfxdh ij vk/kfjr gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	dsoy 1] 2 vkSj 4
	 (c)	 dsoy 3 vkSj 4 	 (d)	1] 2] 3 vkSj 4

	 90.	 Consider the following pairs:
		  National park	 -	  Location
	 1.	 Mouling National	  -	  Arunachal
		  Park		   Pradesh
	 2.	 Rajbari National Park		 -   Tripura
	 3.	 Kebullamjao National	  -	  Manipur
		  Park
	 4.	 Kaziranga National	 -	  Assam
		  Park
		  How many pairs given above are correctly 

matched?
	 (a)	 One pair Only	 (b)	 Two pairs Only
	 (c)	 Three pairs Only	 (d)	 All four pairs
	 91.	 Regarding 'Ballast Water', consider the following 

statements:
	 1.	 Ballast water fresh or salt water stored in 

ballast tanks and cargo holds of ships.
	 2.	 Ballast water is considered harmful to the 

marine environment.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 Only	 (b)	 2 Only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 92.	 Regarding bad banks, consider the following 

statements:
	 1.	 It is set up to buy non-performing assets or 

bad loans from banks.
	 2.	 It aims to reduce the burden of stressed 

assets on banks and make them more actively 
lendable.

	 3.	 The primary objective of a bad bank is to make 
huge profits.

		  Which of the above statement(s) is/are correct?
	 (a)	 2 Only	 (b)	 1 and 3 Only
	 (c)	 1 and 2 Only	 (d)	 1, 2 and 3
	 93.	 Regarding Web 5.0, consider the following 

statements:
	 1.	 Web 5.0 technology allows individual to 

control their data and identity.
	 2.	 It aims to build a highly decentralized web.
	 3.	 Web 5.0 is a combination of Web 2.0 and Web 

3.0.
	 4.	 It is based on Blockchain technology.
		  Which of the above statements are correct?
	 (a)	 1, 2 and 3 Only	 (b)	 1, 2 and 4 Only
	 (c)	 3 and 4 Only	 (d)	 1, 2, 3 and 4
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	 94-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 xzhu gkbMªkstu dk mRiknu lkSj] iou ;k ty fo|qr 
tSls ÅtkZ ds uohdj.kh; lzksrksa dk mi;ksx djds 
fo|qr vi?kVu ds ekè;e ls fd;k tkrk gSA 

	 2-	 dks;yk vkSj xSl tSls thok'e b±/u ds ekè;e ls 
xzs gkbMªkstu dk mRiknu fd;k tkrk gSA 

	 3-	 Cyw gkbMªkstu thok'e b±/u dks tykus] mRiUu 
fctyh dk mi;ksx djds fd;k tkrk gS] fdarq bl 
çfØ;k esa mRlftZr dkcZu dks ok;qeaMy esa ços'k 
djus ls jksdus ds fy;s çkS|ksfxdh dk mi;ksx fd;k 
tkrk gSA

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	95-	leqæh ghVoso ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g leqæ dh lrg ij vR;f/d mPp rkieku dh 
vof/ gksrh gSA 

	 2-	 ok;qeaMyh; ghVoso dh rqyuk esa bldk foLrkj 
vR;f/d gksrk gSA 

	 3-	 blls leqæh ikfjfLFkfrdh ra=k esa 'kSoky izLiqQVu 
gks ldrk gSA 

	 	mi;ZqDRk dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	96-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 fjiksVZ@lwpdkad  		 tkjhdrkZ
	 1-	 Xykscy VªsaM~l fjiksVZ 	 —	;w,u,plhvkj
	 2-	 fo'o çfrLi¼kZRedrk	—	baLVhV;wV iQkWj
	 	 lwpdkad	 	eSustesaV MsoyiesaV
	 3-	 Hkkjr esa çoklu fjiksVZ 	—	uhfr vk;ksx 

	 	mi;ZqDRk ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha 	 (b)	dsoy ,d ;qXe 
	 (c)	 dsoy nks ;qXe	 (d)	dsoy rhu ;qXe

	 97-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 csflu@}hi 		 ns'k@vofLFkr
	 1-	 yyuksl csflu	 —	 dksyafc;k 
	 2-	 ,ft;u }hi 	 —	 rqdhZ 
	 3-	 gSal }hi 	 —	 dukMk vkSj MsuekdZ  

	 	mi;ZqDRk ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe	 (d)	dsoy rhu ;qXe

	 94.	 Consider the following statements:
	 1.	 Green hydrogen is produced through 

electrolysis using renewable sources of energy 
such as solar, wind or hydropower.

	 2.	 Gray hydrogen is produced through fossil 
fuels such as coal and gas.

	 3.	 Blue hydrogen is made by burning fossil fuels, 
using the electricity generated, but technology 
is used to prevent the carbon emitted in the 
process from entering the atmosphere.

		  Which of the above statements are correct?
	 (a)	 1 and 3 Only	 (b)	 1 and 2 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 95.	 Regarding ocean heatwaves, consider the following 

statements:
	 1.	 It is a period of extremely high temperature 

at the sea surface.
	 2.	 Its expansion is greater than that of atmospheric 

heatwave.
	 3.	 This can lead to algae bloom in the marine 

ecosystem.
		  Which of the above statements are correct?
	 (a)	 1 and 3 Only	 (b)	 1 and 2 Only
	 (c)	 2 and 3 Only	 (d)	 1, 2 and 3
	 96.	 Consider the following pairs:
		  Report/Index                                 Issuer
	 1.	 Global Trends Report	 -	UNHCR
	 2.	 World Competitiveness	 -	Institute for 
		  Index 		 Management 
					   Development
	 3.	 Migration Report in	 -	NITI Aayog
		  India
		  How many pairs given above are correctly 

matched?
	 (a)	 None of the pairs	 (b)	 One pair Only
	 (c)	 Two pairs Only	 (d)	 Three pairs Only
	 97.	 Consider the following pairs:
		  Basin/Island 	 -	  Country/Located
	 1.	 Llanos Basin	 -	 Colombia
	 2.	 Aegean Islands	 -	 Turkey
	 3.	 Hans Island	 -	 Canada and 
					    Denmark
		  How many pairs gievn above are correctly 

matched?
	 (a)	 None of the pairs	 (b)	 One pair Only
	 (c)	 Two pairs Only	 (d)	 Three pairs Only
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	98-	Hkkjrh; lafo/ku ds ,dkRed y{k.kksa esa fuEufyf•r esa 

ls dkSu&ls 'kkfey gSa\

	 1-	 jkT;lHkk esa vleku çfrfuf/Ro 

	 2-	 vuqlwph 

	 3-	 ,dy ukxfjdrk 

	 4-	 jkT;iky dh fu;qfDRk 

	 5-	 vof'k"V 'kfDRk;ksa dk dsaæ ds ikl gksuk 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2 vkSj 5
	 (b)	 dsoy 1] 3] 4 vkSj 5
	 (c)	 dsoy 1] 2] 3 vkSj 4 
	 (d)	 1] 2] 3] 4 vkSj 5 

	99-	iapk;r jkt ds lanHkZ esa fuEufyf•r esa ls dkSu&ls 

vfuok;Z mica/ ds varxZr 'kkfey fd;s tkrs gSa\

	 1-	 vkschlh dks vkj{k.k nsuk ;k u nsuk 

	 2-	 fo/k;dksa o lkalnksa dks eè;orhZ vkSj ftyk Lrj 

dh iapk;rksa esa lnL;rk nsus ;k u nsus dh 'kfDRk 

	 3-	 pquko yM+us dh U;wure vk;q 21 o"kZ 
	 4-	 çR;sd Lrj dh iapk;r ds lHkh lnL;ksa gsrq çR;{k 

pquko 

	 5-	 ,llh] ,lVh leqnk; dks vkj{k.k 

	 6-	 efgykvksa dks 1@3 ls vf/d vkj{k.k nsuk 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 3] 4 vkSj 5 
	 (b)	 dsoy 1] 3] 5 vkSj 6
	 (c)	 dsoy 1] 2] 4 vkSj 6 
	 (d)	 1] 2] 3] 4] 5 vkSj 6 

	100.	 fuEufyf•r fo"k; ij fopkj dhft;s%

	 1-	 f'k{kk

	 2-	 oU;thoksa vkSj if{k;ksa dk laj{k.k

	 3-	 LokLF;

	 4-	 ou

	 5-	 U;k; ç'kklu

	 6-	 vkijkf/d dkuwu

	 	mi;ZqDRk esa ls dkSu&ls fo"k; 42osa lafo/ku la'kks/u 
1976 ds rgr jkT; lwph ls leorhZ lwph esa LFkkukarfjr 

fd;k x;k Fkk\

	 (a)	 dsoy 3] 4 vkSj 5
	 (b)	 dsoy 1] 2] 4 vkSj 5
	 (c)	 dsoy 1] 2] 3 vkSj 6
	 (d)	 1] 2] 3] 4] 5 vkSj 6

	 98.	 Which of the following are included in the unitary 
features of the Indian Constitution?

	 1.	 Unequal representation in Rajya Sabha
	 2.	 Schedule
	 3.	 Single Citizenship
	 4.	 Appointment of Governor
	 5.	 Residuary powers to be with the center
		  Select the correct answer using the code given 

below:
	 (a)	 1, 2 and 5 Only
	 (b)	 1, 3, 4 and 5 Only
	 (c)	 1, 2, 3 and 4 Only
	 (d)	 1, 2, 3, 4 and 5
	 99.	 Which of the following are included under the 

mandatory provision in the context of Panchayat 
Raj?

	 1.	 To give or not to give reservation to OBC
	 2.	 Power to grant or not to give membership to 

MLAs and MPs in intermediate and district 
level Panchayats

	 3.	 Minimum age to contest election is 21 years
	 4.	 Direct elections to all the members of the 

Panchayat at each level
	 5.	 Reservation for SC, ST community
	 6.	 Providing more than 1/3rd reservation to 

women
		  Select the correct answer using the code given 

below:
	 (a)	 3, 4 and 5 Only
	 (b)	 1, 3, 5 and 6 Only
	 (c)	 1, 2, 4 and 6 Only
	 (d)	 1, 2, 3, 4, 5 and 6
	100.	 Consider the following topic:
	 1.	 Education
	 2.	 Conservation of Wildlife and Birds
	 3.	 Health
	 4.	 Forest
	 5.	 Administration of Justice
	 6.	 Criminal Law
		  Which of the above subjects was transferred from 

the State List to the Concurrent List under the 42nd 
Constitutional Amendment 1976?

	 (a)	 3, 4 and 5 Only
	 (b)	 1, 2, 4 and 5 Only
	 (c)	 1, 2, 3 and 6 Only
	 (d)	 1, 2, 3, 4, 5 and 6


